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(b) Limitations of Accounting Principles. 5
BCE/D-22 26023

(c) Capital Receipts and Revenue Receipts. 5 FINANCIAL ACCOUNTING—I
frefafen +1 = Fifeg - BC-101

() it T HeE ST W : Time : Three Hours] [Maximum Marks : 80
(3) EiET fogi & @

(R) T wfert w§ e wieEr | Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Fo U™ W % ST aite | ¥e §em 1 sfed

2

<]

41 Compulsory Question ( 1fard wv)

1. (a) What is Accounting Cycle ?
wdiT T H e ?

— 9. Explain the following : o~ 3BT
|

(b) Explain consistency concept with examples.
UFEg % faar = Sse gfeq =re & |
(c) What is representative personal account ? Give

examples.

sfaffe =afsamd @@ ¥ 8§ 2 TR Sig |
(d) Give different journal entries of ‘Loss of Goods by

Fire’.
_ ‘oI F S § a= EA &1 e sHa gfatear
ﬂ _ N N
s |
_ L-26023 10 8,600
u_ | (3-23/3) 126023 P.T.0.



(e} Recurring and Non-recurring expenses.  5x4=20
| AdE A9 AEeF @E % AR 0 aaRu |

2. What is Accounting ? Explain the characteristics and

functions of accounting, 15

3. A wrial balance showed excess credit of Rs. 2.728. which
were placed in a m&_uumn account. Later on the following
errors were found. Pass rectifying entries and prepare
suspense account :

(i)  Rs. 825 the total of purchase return book has been
posted to the debit of sales return account.

(ii) Goods purchased from Ram Rs. 1,800 recorded in
sales book as Rs. 180,

(m) A B/R of Rs. 420 was reccived from Ravi for
which an entry for Rs. 4,200 was made in the bills
receivable book.

(iv) An item of Rs. 328 written off as a bad debts from
Ajay has not been nnwwmm to bad debts account.

H“_; Goods purchased from M Rs. 3500 and from S
Rs. 4,000, but were recorded in the purchase book
as M Rs. 4,000 and S Rs. 3.500.

126023 i 2

(3-23/4) L-26023 3

(vi) Goods returned to Mahesh for Rs. 2,600 was
correctly recorded in the return outward book but
was wrongly posted to his account as Rs. 260.

(vii) A sum of Rs. 2.210 stolen by an nx&?u_oﬁm stand
debited to suspense account. .

(viii) An amount of Rs. 500 written off as depreciation

on machinery were not posted to machinery account.

TH deide. % ®fez ug #=1 Wi 2,728 % afuw & fm

390 @ H 2 G S 2 | AR ¥ frefafen swifeE

F1 T Sl ® | AEYEE GUR wfatea Fife w6 s

ﬂﬂﬁ%ﬂu _

(i) HF 99E @ F S 825 T faww awE =@

% e A fom om0

(i) T ] 1800 = & wa @iw 59 fawg w@
5 180 % fom fer ma |

(i) M ¥ 420 % F1 59 wa zen fost o= fiw
T8 H 4200 5 ¥ wfEe w oS owr

(iv) 399 ¥ 3WrE HW & 328 % WY HY =R
H 2fae T8 fpu mu

(v) M H 3500 % 3RS ¥ 4000 5 &1 9 GG
WA OFT T M F B O§ 4000 ® 3R S
% @\mU § 3500 % fom fzm omwo

P.T.0.



(vi) HEW W 2.600 T H AW AW FA T WY 5. (a) Distinguish between Journal and Ledger. g
™y % @n § 260 % fom o omn o . R e e oy
(vii) TF Td wHER FO 2,210 & =0 faw mooS e
fi o @E d 2R F |
| with the help of examples. 8

(viii) BYi0 W @mE T 500 B B H UM HEAR : . .
e | T F uAfEd wE A faree swfea W

4. A company purchased a machinery on lst Apnl, 2016
costing Rs. 4,00,000. The company further purchased

(b) Explain various errors which affect the trial balance

: IR EFC TdORC |
6. From the following particulars prepare Trading and Profit

machinery on 1st July, 2016 of*costing Rs. 2,00,000 and and Loss account for the year ended 3lst Maren.: 2010
on lIst January, 2017 costing Rs. 2,50,000. On 31st \ and Balance Sheet also as at the nm.ﬁ :
December, 2018 half part of machinery which was installed | Particulars Amount Particulars Amount
AL s B st o @.,
W Furniture 18.000 Capital 3,00.000
Diminshing Balance Method. Prepare machinery account
i healeO kA e R Srio e 2019 ned Fooks s Motor Car 1,20,000 Provision for Bad -
closed on 31st December every year. 15 Building . 1,50,000 debts 6,00
s FEE ZR 1 S, 2016 F 4,00,000 . F HeA Bad Debts 4,000 Sales 2,40.,000
T T | FEE Y O 1, 2016 F 2,00,000 % Opening Stock 70,000 Purchase Return 2,500
F e 1 SHEd, 2017 F2,50,000 T H HEHHA @EL | Purchases 1,00,000 Commission 5,000
31 fagmam, 2018 &1, 1 @1, 2016 it @& ® WA W - Sales Return 5,000 Bank Overdraft ~ 1,00,000
amem A AwR @ T e R 1,20,000 A 49 . Interest 4000 Sundry Creditors 50,000
AL ﬂﬂ § et e sl ¥ e S Tax and Insurance 15,000 _
2 | FoE w1 el § a9y 2019 T @R 9IRY W YeE ot i 38500

a8 31 femEw = A= B € |

L-26023 4 . (3239 L-26023 5 P.T.0.



Sundry Debtors 1,00.000

Car Expenses 20,000
General Charges 15,000
Salaries 44,000
7.03.500 7.03.500

The following are the adjustments :
(i)  Closing Stock on 31st March, 2010 was Rs. 80,000,

(1) Depreciate building and motor car by 5% and
10%.

(iti) Rs. 6,000 are due for interest on bank overdraft.

(iv) Salaries have been paid for eleven months and

insurance of Rs. 3,000 is prepaid.

(v)  Write off further bad debts of.Rs. 2,000 and make
bad debts provision by 5% on debtors.

(vi) Goods costing Rs. 5,000 were given away as

charity.

(vii) The car is wholly used by the proprietor for personal
use.

(viii) A B/R of Rs. 10,000 was discounted in November
but, it is due in April next. 15

L-26023 6
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faefafas fa=m 3 31 nﬂ.uﬂuﬁ.ﬂa&%mﬁﬁ

ﬂﬂ%ﬂﬁ%|%ﬂﬂﬂa&%ﬂ@@

faam TR0

faaron

— =

R FH
s
ECGREL
gras wiaa
3

fawa a9
=T
1 wE 4
EEl
fafay TR
R
T =4
Croi

(3-23/6) L-26023

ofer  faeor
(%)
18.000 dsit
120,000 =Fd 1 SERH
1.50,000 fa=4
4,000 FA AIH
70.000 FHIH
1.00.000 F= sfefad
5.000 fafay 7&K
4,000
15.000
58,500
1.00,000
20,000
15,000
44,000

—_—

7.03,500

—_——

afe

(%.)
3.00.000
6.000
2.40,000
2.500
5 .ac....._
1.00.000:
50,000

7.03,500

P.T.O.



8. A consigned 300 boxes of shoes to B costing Rs; 250

by TEEER TE TER € each. Rs. 1.500 were incurred as expenses in sending
@) 31 =, 2010 ) ufm @i 80,000 %

(ii) ﬁﬂ_mgﬁﬂmﬂﬂmmﬂ.%aﬁﬂﬂ
H @med |
(iii) 5 afufssd W 6,000 5 =9 %4 ¢ |

them. In transit 40 boxes were stolen and insurance
company admitted a claim of Rs. 800 only. Consignee

took delivery of the rest and incurred direct expenses of

. & A @ Rs. 520 and indirect expenses of Rs. 200. He sold 240
(V) H@qﬂw .MLM&M _.,”_wﬂﬂ i boxes at Rs. 300 each. He gets 6% commission on gross
(v) Taa w0 = 2,000 & srafatEa wieg, a4l e _ sales. Prepare Consignment Account, Goods sent on

w 5% W W A g wW e IR Consignment Account, Consignee’s Account and Abnormal
(vi) 5,000 % H e @h & T 7 . _ loss account in the books of consignor. 15
E:ﬂmﬂﬂ@ﬁ%%%ﬁamﬁaﬂ m»mﬂmgﬁﬁumﬂﬂ%mﬂamﬂﬁﬁs

_ LY
3 ,. wHS | A TN OES 99 W 1,500 % =F fEu |

T H 40 fem S #@ T gw AW FEE A FEd
800 %, 1 A A | Yuvit ¥ ¥ o= w1 feciad o

- T
7. (a) Explain the accounting anEE.nE of Subscrip Em _.
and Donation with the help of examples. _
{
_
|
_

ﬂﬁ%ﬁ%%ﬁﬁmﬁﬁﬁ
HEEY |

(b) Differentiate between Recelpts and Payments
and Expenditure account. 10

SR 520 % WEw = a4 200 F SNy < PEH
fem | B 3 240 fe= 300 & wos & fewm | 99 f{Q)
TFa fE W I8 6% FHeE fHen | YuE F OGRS A

S ST, W Y9 @ YO0 @ 9 e wiE Ern
Account and Income

P ﬁﬂﬂmﬁﬂﬁﬂﬂ%mmﬂ” AT |

aIaze | - (3-237) L-26023 9 P.T.O.

1-26023 8



RolENGE 5 s issiiiitioniis Total Pages : 03
BCE/D-22 26024
MICRO ECONOMICS
BC-102
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory,
_ which comprises five short answer type questions
carrying 4 marks each. Attempt four questions from
the remaining eight questions carrying 15 marks each.
w9 W W ® I AT | wE g 1 afEd
¢ o o9 @y sy WA € | TeE oy v 4
3% W & | Y9 o W F ¥ R T wi, e

TAE W 15 SRl @ # |

Compulsory Question ( 1&g wv=)

I.  Answer the following in brief :
(a) Discuss the relation between total utility and
marginal utility.
(b) Explain the concept of marginal rate of substitution.
(c) Distinguish between returns to a factor and returns

to scale.

(2-14/11) L-26024 P T.O.



(d) Explain.the concept of opportunity cost.
(e) Explain ‘excess capacity’ with the help of a diagram.
_ 5x4=20

frafafes & %y d I Sif9g .

(21) el UG Td HiFmG SUAnT § TE w e
Hifeg |

(=) ‘gioeam S0 d@mr 50 FEyuon F1 FuA Hife |

(W) w9 B Wawd IR TE # ofoew ¥ o T
Fif | | _

(F) . FAFH oW FAUROT F A0 Hitag, |

(3) TEifas 1 WeEa 9 ‘gua enfus’ @ 9
T |

Discuss briefly the nature of economics. 15

A4 F1 wHfa H GEY § F= HC |

Explain the income effect, price effect and substitution
effect with the help indifference curves. 15
JeE aF H WeEdl ¥ G UNE, HEd 99E SR
wfaerds w9E #1999 sifee |

Explain the concepts of ‘change in quantity demanded’
and ‘change in demgand’® in detail. i
‘“Gift T wEn § wfEad’ iR ‘A A ufe’ = e 9
qUH Fifg |

L-26024 2

What are internal and external economies and
diseconomies ? Explain their causes. 15
=T TE TR0 T a9 §fa 4 F 7§ wROn H6
FUA I |

Discuss the traditional theory of cost. 15
AE F ERErT e w99l Sita |

Explain the determination of short-run and long-run

equilibrium of a firm under perfect competition 15
qui gfgaifal § UF WH % AeqE@E qd s

Tged & fuRo ) = i |

Answer the following :

(a) Distinguish between monopoly and monopolistic
competition . , 7

(b) Conditions of price discrimination. ; 8

Frerfofen & s SR :

(31) wHUFER w8 uHiaEd s 9§ 6@

(7) =mo fasz =t wd |

What are selling costs ? How does a firm attain
equilibrium with selling costs ? 15
fag @ =0 € 7 fawa vl & WY 0F BH Ao
%Y W HE % 2

(2-14112) 1 -26024 8,600
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BCE/D-22 26025
PRINCIPLES OF BUSINESS
MANAGEMENT
BC-103
Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory,

.each part carrying 4 marks. Attempt any four questions

from remaining eight questions carrying 15 marks each.
@ U WeA @ oW AW | WA gew 1 st
2 fomd s F 4 o € | 99 A8 WA A O§ R
WX W ST | SEE T 15 AT

Compulsory Question ( 31faTd 79+ )

1. Write brief answer of the following :

(a)
(b)
(c)
(d)
(e)

Discuss the importance of management.
Explain the qualities of good planning.
What are the indicators of decentralisation 7
Write any four features of motivation.

Describe the pre-requisitions of good control system.

(3-25/5) 1-26025 P.T.O.



fFefafen & weg § @ Sifse .

(31) 999 % Heww F1 99 Hifag |

(@) o= Frem @ Rewas w1 9o i |

(7)) foa=iFm & g9= #01 & ?

(%) fauonm =t =R favmaed &1 3ol sitae

(3) & =gl frg=m wgfa =t Eheamsi =1 3ol
FIFT |

. What is Management ? Why is management known as

process 7

Y 9?7 UEY H WEd & FE W £ 2

. Critically evaluate scientific management approach.

HATE 9EY F AEEATEE Hediw Hifag |

. Discuss different types of organisational structure.

WA Hega & 3= wEn = 3o w5t |

. What do you mean by decentralisation ? Discuss the

factors influencing the degree of decentralisation.

fa=ism 9 a9 F 995 € 7 THSE HE S uWifEd
F 9 Tedl w1 auE Hirew |

. Define Staffing. m_ﬁ._E.n its nature and scope.

Frafam @ =1 i $ifae @ e vl a9 99
Fi fag=am Hifsg |

L-26025 . 2

7. Define Motivation. Explain the Maslow’s hierarchy of

need theory.

sfqgmr w1 ufenfeg Fifm | Tt 31 aTEvEEa &
FHaGal H HAART |

- What is concept of Leadership .? Explain power based

leadership styles.
A W GEETT N OE 7 afeREE dge et @
fo=r | aviA =ifsm |

. What is Controlling ? Discuss various eontrolling

techniques.

= 71 & 2 fr=m % fafis fafiel @1 9ol st

(3-25/6) 1.-26025 3 8,600



Explain the following in Excel : 15
sorting, filtering. validation, pivot table and goal seek.
e § frefafes #5199y

What are guided transmission media ? Explain the
construction and working of optical fiber and coaxial
cable along with pros and cons. 15
TEie ZiafiE difea wm AR € 2 sifewd WEE AR
mEa #ae 3 fEm iR FEEOmET ® AR H @R
2 Hied SaEy |

L-26026(TR) 4 P

Roll NO. cocccrmsremessnssnsinns Total Pages : 04
BCE/D-22 26026
COMPUTER APPLICATIONS IN BUSINESS
BC-104 .
Time : Three Hours] "[Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions from remaining eight
questions.
et T B IW A | W e 1 e
2| 3w @ v 4§ WX 9 9 FINC |

Compulsory Question ( fTard uv )

1. Answer the following questions in brief : -~ 5x4=20

(a) Define Computer. Explain the characteristics and
demerits of computers.

(b) What is Windows explorer 2 Explain its usage and
features.

(c) What is Macro ? How 1s it defined and run in
Word ? :

(d) What are open source softwares ? Give an overyiew.

(¢) Distinguish between multiprogramming and multi-

tasking.

(2-16/1) L-26026(TR) P.T.O.



freifefag 9ol & 39 §&9 H ==

(31) FP F TR HIG | FEE w faemme
R < = =R i |

(a) g TSR @ ¢ ? T9E S9Am R fawmme
Fi =E FEE |

() #Ft w0 € 2 ™ 92 A F4 wfenfug fFE oS
R =@ W 2 ?

(2) 3 OH Geadt 7 2 ) UF SEdEd died |

(3) el S A-AfET ® A s |

(a) What are output devices ? List them. Explain the
working of any one of them. - 8
sgeqe feamy s € 7 SAST Y AT | T
¥ fed U= = SEUOEl HHEEC |

(b) What are input devices ? Explain the working of
optical mouse. 7
sz feqme #1 £ 7 sifewa ARG F HEOmE
HHHARY |

What is hard disk ? Explain the concept of cylinder,
track, sector, seek time, latency time and access time in
respect to hard disk. 15
o oo w3 0w feer @ wAw § fadw, I,
F AN FEg |

b

L-26026(TR)

4. What is Operating System 7 Explain the salient features
of Windows Operating Systen. 15
wifn foren =0 € 2 fHEw afwifEn fo=n = wa
favmat =1 =re SIS |

5. (a) What is real-time cvm_.E_m:m gystem 7 Enumerate its

five applications. 7
{ga-230  saifen foeq &1 ¢ ? Tm® U
Fawdm fefay |

(b) What is Computer Network 7 What are the
objectives of Computer Networks ? Explain the
characteristics of LAN. 8
FEE A2aE F € 7 FEHE JeaE & Ievd #
¥ 7 LAN % favmmet =1 wweme |

6. What is Network Topology ? List different types of
topologies. Discuss any fwo in detail with their reldtive
advantages and disadvantages. 15
zag e #J € ? s wER #1 ddenea &
Tt FEe | fe W I TfE @ SR wE $
g fam=r 9 99 Sifeg |

7. (a) Explain the concept of mail merge and macros in

Word. 7
a2 § Ha W9 A HElS H AGUROT FHl THEET |

(b) Explain page formatting features in Word. 8
o€ § 9§ WEfEN Wl F A wide |

(2-1672) L-26026(TR) 3 P.T.O.




(b)

L-26027

Find the amount of an ordinary annuity of ¥ 600
payable at the end of each quarter for 3 vears at
8% p.a. compounded quarterly. 1%

What 1s the present value at 6% p.a. compounded

semi-annually, of an annuity due of ¥ 1,400 payable

semi-annually for 12 years ? 7

4 7,900

Roll No. \V.N\WU

EEEssmmEsssEEEEsREAREERRRE

BCE/D-22 26027
BUSINESS MATHEMATICS-1 -
BC-105

Total Pages : 04

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

(Compulsory Question)
1. (a) I the 2nd term of a GP. is' 5 and the 4th term is
25, then find its common ratio. 4
¢ . x4
(b) Differentiate — w.rt x. ) 4
; x=¥]
(¢) Prove that : . 4

log,(1+2+3)=log,1+log, 2+log, 3

(d) Find the values of x and y from the following
equation : 4

X 4 4 1 7 13

-} -
st golPikeol 9l Tl T

«) Rahul deposited ¥ 6,000 in a bank for 3 years. If he
got compound interest at 4% first, 3% for second
year and 2% for third year, find the amount he got
at the end of 3 years. 4

(3-24/7) L-26027 P.T.O.
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(b)

Lad
.

(a)

(b)

1-26027

If _amhu,m;wn._m:awa+_cm.ff show that : 7%
_ .
¥ex
i
Solve the equation : 7%

u..m..nl_ - ._._L.,..L.MH.T_

If the 12th term of an A.P. is —13 and ﬁ_..n sum of
the first four terms is 24, what is the sum of the
first 10 terms ? T

Sum the following series : 7Y%
4 + 44 + 444 +... to n terms.

Differentiate +* + x2% wrt. x. T4

If p._u.hu then show that .ﬂ,@ui_li. Th
x+3 dx

Find the local maximum and local minimum values

of the following function : 2x® —21x* +36x—-20. 7%

Find the area of the largest rectangle having the

perimeter of 200 metres. T

Express the following matrix as sum of a symmetric

. and skew-symmetric matrix : TV

e Iy =
Lh 09
o

(b)

(b)

by

Show that : . T
a? he ac+e”

¥ 2 e |
a- +ah b* ac |=4a°b2ct

3

abh h* +be o

3 -5
For the matrix A= 2 . show’ that
=4 2

AZ — 5A — 141 = 0 and hence find A™! 7V

Applying Cramer’s Rule, solve the following system
of equations : TV
3x +dy+ 2 =13
2y —3z=73
X =2y r6a=—2
Find the difference between compound interest on

< 8,000 for 1% years at 10% p.a. when compounded

annually and semi-annually. T

A machine depreciates at the rate of 10% of its
value at the beginning of an year. The machine was
purchased for ¥ 10,000 and the scrap value realized
when sold was ¥ 3.855. Find how many years the

machine was used for ? T4

(3-24/8) L-26027 3 P.T.O.
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BCE/D-22 26028
BUSINESS COMMUNICATION
BC-106
Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any Fouwr questions
from the remaining eight questions.
YR Hen 1 StEd § 1 YW S8 W d O/ 6
=T Y &ifeg |

Compulsory Question (21fard wv7)

1. Write short notes on the following : ~4x5=20
(a) Audience Analysis ;
(by Formal Communication
_ (c) Mock Interview

(d) Features of business letter

(¢) Principles of Effective Listening.
Frefafen w d feufml fafen -
(1) o favemm

(3) A=is HOR

(J) ATEE HEHER

(%) =aEairas 94 &1 favmend

(3) womE el Faw & fEgiE |

(2-14113) L-26028 P.T.0.



Give the advantages and disadvantages of oral and written
forms of communication. Dmmmnmw.__v,r between these two
forms of communication. 15
Hifes g fafes 99 % 0 vd FM F1 9a5d | 31 36
F A F TR FC

What is meant by Audience Analysis ?_Describe various
steps of Audience Analysis and write objects of Audience
Analysis. : 15
gl favemm -9 w71 ovg 2 7 g favemm & fafas
SR H e FiWQ qdn g favewe & 2vE w6
fafau |

What are barriers to Communication 7 Give suggestions
to overcome these barriers ? : 15
FOAR ® EUdl 9 F= afqug € 7 5 9 w5 w5
& foau ggE S | T

What is grapevine ? How does it operate ? Is it necessary
to have a grapevine in an organisation ? 15

IqaTT T 2 2 T FRE YER FE w6 £ 7 T e
¥ IEET &1 B AEEE € 2

What do you mean by Oral Presentation ? What are goals
of Effective Presentation ? Also explain the basic principles
of Presentation. : 15
s Fefanor &1 F @4 § 2 39 vEiwm &
weg € 2 v & g9 fagi w1 A i

L-26028 - 2 it

What is meant by Body Language 7 Discuss the types
and significance of Body language. 15
sTifE 9 F1 o @4 & 2 TR 9m & WER T
e T YHE S |

What are various steps involved in conducting an
Interview ? Explain. 15
F FEER F HEOH § #-39 HE9 S8 YEd © 2
Al HisT |

What is meant by e-mail ? Explain how does it work '
What are its uses ? Also discuss e-mail etiquette. 13
{7E = F a4 € 2 98 R R wE w5 ¢ 2 6
7 wEm ¥ 2 e famEm # o9 s i |

(2-14/14) L-26028 3 8,500



9. (a) Explain the main features of MS-Excel. 7

U -TEE S g5 fSeeael =1 s St 1

(b) What is paragraph formatting ? Write the steps to
format a paragraph on MS-Word. 8
Yume widen @ ® 2 wAuE-ad ¥ Yume @i
wie w0 & = fafae |

L-26039 (TR) 4 1,000

Roll No. Total Pages : 04

- BCE/D-22 26039
COMPUTER APPLICATIONS
~ BC(Voc)-105 .
Computer Fundamentals and Logical
Organization

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
In addition to that attempt four more questions.
F@ ute Ul % SW e | e dem 1 JAtEd
3 | e s 379 9K W SR F |
1. (a) State the characteristics of computer.
R Hi favean Fasy |
(b) Which gates are termed as universal gates and why ?
2R e W g e ww WA ¥ S w2
(c) State and prove DeMorgan’s law.
fouitr @ frm = =Ry sk e AR
(d) Differentiate between system and application
uﬁ#ﬂﬂ_ﬁ
firen iR UfeRYR GRAW B dE AW 9ORT |

(5-30/14) 26039 (TR) P.T.O.



(e) Discuss the various types of transmission media in 2fdn o T € 2 Iugw ISRl 1 WE S gU
brief. fafi= wwr & 2 digg =i R 3 whgwe
fafo=1 y%R % ¥9R wegHl S 989 9 949 S )

Sx4=20 6. Differentiate between various types of operating system

. ! ) i.e. Windows, Linux, Mac and Android. 15
2. What is memory hierarchy ? Explain various types of

3 ) fafi= R & SAfen faen S8 fHew, foreg, 3% iR
memory used in computer along with pros and cons of

Ugise & =9 il Sy |
each type of memory. 15

T YEEEH = € 2 S U IuEm & WR amwel 7. (a) Describe the hardware and software needed for
fafo= TR F1 T @ TE-91Y TS SR & oA 5 networking in detail. T
a9 AR FHfivd St =ren S | Yeafmn & fau aEwEs TRaW AR Gwda W
3. What do you understand by Multiplexer and fawar 9 o S |
Demultiplexer ? Explain their working in detail. Also (b) What is DBMS ? Explain its major characteristics
explain their purpose in computer. N in detail. . 8
TeAEE 3R fereieea | 29 ¥ guER ¢ 2 AAwwe 70 ¢ ? THEr wiE favmaei o
FHETTE H foEr 4 TR | g F T ey W forR | wHERT |
HHART | . 8. Write short notes on the following : 2 15
4. What is Full Adder ? Explain its working and design. (i) Programming Languages
Also explain the design of full adder with the help of : (i) Utility Software
half adders. 15 (iii) Instruction Formats. |
% TSt HI gEEa ¥ B X W fessd oft wiemEy | G smftin de
5. What arr addressing modes ? Explain various types of (i) IR wRIm

addressing modes using suitable examples in detail. 15 (i) FEw 9wy |

L-26039 (TR) 2 ) (5-30/15)1.-26039 (TR) 3 P.T.O.




7. (a) Describe objectives and functions of an operating
system. 7
T AT fawn & sewd el @l @1 9ol
FHifeTg |

(b) What are various services provided by operating
system ? : 8
wfen foen g = # 9W awet fafes gard
g ?

8. (a) Define Control Panel Accessing. What are steps to
change mouse from right handed to left handed
operation ? 8
T T CIRfET 1 sRenfig #IfC | AeE W
T B | AW wY F ARE A aEen @ o
N FEH § ?

(b) What do you understand by the Add New Hardware
and Add/Remove Programs ? 7
TE 9 FRAW R T/ftgm s ¥ @9 5 an
T 7 :

9. Write notes on the following : 5,5,5

(a) Importance of data in business

(b) Office Automation Functions

(¢) Word Processing.

?ﬂ@@mﬂ@ﬂ?ﬂw%"
(1) =R ¥ S@ 1 "o
(9) wEe™ WuEed s
(9) =€ wfET |

L-26041(TR) - 100

Hﬂ: z.nl FEERFEEERAARSAAddI R R Ra H‘H'.—.N_ Hbmnm “ =h

BCE/D-22 26041

COMPUTER FUNDAMENTALS AND

BUSINESS DATA PROCESSING
OMSP-BC-105

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all, including Q. No. 1 which
is compulsory.
Aed v wen 1 §fed |1 g W IW
FifeTe |
Compulsory Question ( 31fard uy=)
What are the functions of a CPU in a computer ?
X H WA B wowd £ 2

Explain a multiuser operating system with an

(b)
example.
AEEER Hrqfen firen #i S<e afea Sy |

(c) What is the importance of secondary memory of a
computer ?
IR F WFUSH HAR w1 W Wew § 2

(d) What do you mean USB port ?
JuEdE. U | YR T AwE € ?

(¢) What information is available on the taskbar ? 4x5
TEFAX W HAE THEA STqH B 2

(3-25/1) L-26041(TR) P.T.O.



2.

(@ Draw a block diagram of a computer to illustrate
the basic organization of computer and write
functions of its units. 8
TR F qA WIET F W SR T9at sERdl @
M@ 5 ot & e wvm w1 @ =i ong
TR |

(b) Briefly describe history of evolution of computer. 7
FER % Fwaw GEE @ shem w1 9w § quin
I |

Differentiate between the following :

(@) Primary memory and secondary memory 8
(b) Hardware and software: 7
Frefefes o ofm =if .

(31) wafis 96 ok mefrs A9

(@) TEAW iR W |

Elaborate in detail : 55,5
(a) My Document

(b) My Computer

() Network neighborhood.

o 9 qarEe :

(#) My Document

(d) My Computer

(d) Network neighborhood.

L-26041(TR) 2

5.

Define the following operating system with example of

each :

(a) Multiprogramming operating system 7
(b) Time sharing operating system. 8
YOS % e F WY Pefafen siRfE fowm s
wfenfim wifse .

(%) wedismfyn e faem

() zrem waffn sifqifen fawem |

How will you perform the following activities in
windows ? 3Ix5=15
(@) Create a file

(b) Delete a file

(c) Move a file

(d) Rename a file

(e) Save a file. .

foel 4 o frffan wfafafiel = 98 w80 2

(&) Create a file |

(d) Delete a file

(¥) Move a file

() Rename a file

(3) Save a file.

(3-25/2) 1.-26041(TR) 3 P.T.0.
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BCE/D-22 26045

MARKETING COMMUNICATION-I
ASPSM, BC(VOC)-105

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Each short answer type question carries 4 marks. Select
any four questions from the remaining eight questions
carrying 15 marks each.
A U WA F SW ST | v wen 1 sfad
? | YUF @Y SO0 WH 4 Ik HE | I B
w3 ¥ 5w vl @1 waw s Y e
WA 15 FH W T

Compulsory Question ( 21f=r w9 )

1. Short answer type questions :

(i) Objectives of Marketing Communication

(1) Components of Communication Process

(i) Role of digital Communication in Marketing
Communication

(iv) What is Scope of Marketing Communication ?

(v) Explain  ethical aspects of Marketing
Communication.

(5-40/8) 1-26045 P.T.O.



oY ST W :

() fom "9er % IR

(i) =R wfEaw = am

(i) fawm dem # fesfem @um &t wfgw

(ivy famom Her & FEEs w1 avie Fifew |
(v) fauwm WEm # e wegs # smenm #itw

. What is Marketing Communication ? Explain various

methods of Marketing Communication.

faom der 7 7 favom WER = fafve e
U Hifaw |

. “Marketing communication is emerging to be more

essential in present context.” Justify this statement.
“amyftes wfEw ® farom geR v meeel g s o=
1" W s 9 gfe s

. What is Effective Communication ? Discuss the general

principles of effective communication.
A HAR F1 ® 2 guEl §ER % 9w fagit @
HHAEY |

- Define Communication process in detail. Explain the

importance of feedback in communication process.
FER wiea =i fomm ® tfafie #ifse | g=9r wfea o
yfogfe % mew #1 IgmEY |

L-26045 2

. Discuss the role of Social Media in emerging trends in

marketing communication.

faom dur % &3 H g e d@9R w5 anyfe
TER &9 H s w1 9uF Hifeg |

. Explain in detail factors affecting choice of various

medium of marketing communication.

faom gur % fafv= el 3 =29 =t wafEe =0 99
fafa= w2l =1 Tl Sifew |

. Explain the role of economic aspects in modern marketing

communication.

Y fagom ¥R A enfds @@l & wew # wEEme |

. What are economic aspects which affect the marketing

communication 7

faqm dur = yafan =@ 9 afds v FEE F 7

(5-40/9) 1.-26045 3 100
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BCE/D-22 26046

FUNDAMENTALS OF ADVERTISING
ASPSM-BC-106

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
All questions except Q. No. 1. carry equal marks.
HA YT W B IW AT | v dew 1 sted
w_ﬂﬁﬁﬂHﬂﬁmmﬂﬁ&i%mﬂﬁﬂﬂ
g
Compulsory Question ( 21f&ard gyw)
1. (i) Define advertising and give its three main features.
fam @ wfwfm Fife sk s @9 Te
favramsl @1 @i e |

(i) What is the effect of advertising on Prices ?
fom wfal w1 S8 ywfas ww € 2

(iii) Explain any three weaknesses of advertising as a
Promotional Tool.
WAt W49 % w9 A fam w1 el o wewina
F FUA Fifeg |

(3-63/8) 1.-26046 P.T.O.



(iv) Discuss objective and task method of advertising
Eudget.
o w5 %1 5299 us = fafy 37 9ol wHiferg |
(v) What do you mean by Point of Purchase (P-0-P)
Advertising ? 5x4=20
A WHG d WH W G Y e = sy
g ?
“Advertising sells the product.” Do you agree with this
statement ? Give reasons. Explain the functions performed
by advertising. 15
femr SR w1 fawa w2 0 wm oo 3w wen @
wewa € ? w0 fafey | fEm o et e A s
H e Fifay |

Explain different types of advertising. 15
faf= woR 3 famd #t =en wifm |

Discuss the important benefits and major limitations of
advertising. 15
fear % g7 @i ot dei #t swen i |
Write a note on DAGMAR approach in setting advertising

objectives. 15
g%ﬂ%ﬂmggﬁﬁﬂ
feooft fafan |

L-26046 2

Explain the following : 15
(a) Communication as advertising objectives

(b) Scope of advertising in modern marketing.

Fefafaa =1 avfy #ifse .

(%) ¥oR 1 fom 393 # w9 ¥ gwemn

(7) =yt fawom & fmwm @ dwemmma = oo
SHIferg |

What is Advertising Budget ? Explain steps in framing

advertising budget. 15

fomr ase 71 § 2 fom wwe @ i o R won
F1 e Fifag |

Write short notes on the following : 15

(a) Recent Trends in Advertising

(b) Factors determining advertising objectives.
frefafen w gt foofort fofau .

() faart & adom wafoat

(@) fowm vl =t fuffe =@ s w=w |
Explain the role of advertising in the development of a
National Economy. 15

T W F o & fawm @ oy 5
e Hifey |

(3-63/9) L-26046 3 100
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TEIE fRT U S 3 31 6, 2018 H6 BCM/D-22 26047
AT B o169 & fer 60,000 2 S99 Heg W CORPORATE ACCOUNTING-I
2 Paper—BC-301
BTG U 3 50,000 T FHOIIH WER F9 H i
TG fHy T wRERE @9Y &1 & o

20.358% h <X H A HifoTl

Time allowed : 3 Hours] [Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is
compulsory carrying 20 marks. Remaining questions
carry 15 marks each.

=@ 99 WAl @ I i e e | st @ S
fiF 20 375 =1 2 99 Yook G 15 Sl 1 2

Notes to Accounts H ‘Reserve and Surplus’

wefim i

Compulsory Questions ( A wvT)
1. Answerinbrief: 5x4=20
H&q H IW AT
(i) CallsinArrears
54 A=A
(ii) Collateral Security
HerFs gfaqf
(111) Capitalisation of Profits
Gl ElE L
(iv) Divisible Profits
faurE g arw
2604 7/K/227/8500 8 26047T/K/227/8500 P.T.O.
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(v) External Reconstructionofa Company.
T FHFIHA] 1 dgd- A 19410
What journal entries are passed in the books of

transferee company in case of Amalgamation? 15

ek (Y] =1 S¥IT H BTG hid dicil BEaH] i geaehl
Y T wfafted] &7 S 872

Distinguish between Internal and External

Reconstruction. 15
e S A g fmf d sfa it |

What is Debenture? Explain the differences between

an Equity Share and Debenture. 15
OIS Y ed €7 TF 91 o9 S Wh R o

=TT AR

Give the meaning of ‘Issuing the Share at
Premium.” For what purposes, the amount of
securities can be utilized? 15

‘Al WS S & w1 @Y aasu) gfaghd
Siferers =6 Tt 1 g foRa sevat Ui fe e

T HFal 27

A Limited Company was registered with a capital of
T 5,00,000 in shares of T 10 each and issued 20,000

2604 7/K/227/8500 2

such shares at a premium of T 2 per share, payable as
T 3 per share on application, ¥ 4 per share on
allotment (including premium) and T 2 per share on
First Call made three months later. The money
payable on application and allotment were duly
received but when the First Call was made, one
shareholder paid the entire balance on his holding of
300 shares and another shareholder holding 1,000
shares failed to pay the First Call money.

Give journal entries to record the above transaction
and show how they will appear in the company's
balance sheet. 15

us fafise H=FT H1 SIS 5,00,000 ¥ & gt H
Wﬂﬂﬁﬂﬂﬂﬂwﬂaaw@a%ﬁﬁﬁm
afer Hifem W frifme f&Fa = fe =1 9ae 3 2
el T WY, 4 % SiEe W (T e w50),
2 3 TEel A WS R 3 HEH 918 S TR SEE 9
A& F UM w999 8 9w g4 e 99
yeell O F T 9 UE S A 79 300 HW W
Foq} iy @1 e aR R @ O i S,
foraa I 1,000 391 & GEel Hi 1 A B GIE |

= Hhl

26047/K/227/3500 3 P.T.0:
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=]

THIF TAT-57 F il Fid o I 3R 58 Fe
= frfa faaam ¥ femrn)

X Company purchased assets of the book value of
< 10,45.000 from Y Co. It was agreed that the
purchase consideration be paid by issuing 14%
Debentures of ¥ 100 each. Assume debentures have
beenissued:

(1) atpar

(1) atadiscountof 5%

(ii1) atapremium of 10%.

Give necessary journal entries in the hooks of X
Company. 15

T FHEE] A A1 wEA G 10,45,000 T H GEE Ged
=1 geafeal s *1| 9e Henta &2 % 100 T 95 14%
FUE F A 50 %9 5o F1 graE f s
4% A4 8¢ 6 RIS :

() HI-Yea 9

(i) 5% et 9«

(ii1) 10% Hifwgn R FHifas feo o

UFH FHOA Fl [EEl A AEvEE wHa wanedr
ol

26047/K/227/8500 4

The following balances appeared in the books of Nova
Limited asat 31st April 2018

3
13% Dehentures 7,00,000
Sinking Fund 4,00,000
12% Sinking Fund Investments (face value) 4,30,000
Annual instalment addad to the Sinking Fund was
T 50,000 made on 31st March. On 31st March 2019.
Balance at bank was ¥ 2.80,000 after the receipt of
interest on investments. Investments were sold at
90% and the Debentures were paid off.
Prepare journal entries and ledger accounts for the
yearending 31st March, 2019,
| &9, 2018 F1 =@ fafiie +7 gl 4 fefafaa

I frEm B L

?
13% SRUTTH 5,00,000
fafe vz 4,00,000
12% fafem we fraw (s ge9) 4,30,000

fafen % 9 31 | &1 50,000 T IN0F &0 Har

S 4Tl 31 HE, 2019 W g% g (fatEm W

=S U FE F aE) 280000 2 G FEAT

26047/K/227/8500 5 P.T.0.



wﬂﬁiﬂgﬁﬂﬂ.ﬂa%ﬂﬂﬁ%ﬁﬁﬁﬁ : |

fund account. Corporate dividend tax is to be

fem . provided at 20.358%.
' . _ Show ‘Res .
. 31 WA, 2019 F wAE @ T 94 & fau hd ow ‘Reserve and Surplus’in Notes to Accounts, 15
gfaftzat qen @ arEdl T [6H2E A 31 Hid, 2018 &1 997G €9 9 9 &
9. X Ltd earned a profit of ¥ 18.00,000 for the year foru g 3 #9 2nfe 1 =3asen F35 F 495E 18,00,000 T
ending 31st March, 9018 after making provision for _ =1 =19 #forg .ﬁw&_ﬂ: 2 80.000 7 =9 F T Frod o
the depreciation and taxation T 2,80,000 profit was . 2 =0 58 e T 6
brought forward from last year tothis year. Following ﬁ o Ml % HEeThl 4§96 H &
recommendations were made by the directors of the AT % forg s fame) 1 :
company ﬂamﬂﬁgﬁimgﬁgmﬁgmﬂ 6 120 2
000 T 9R9 & T T e
@ To pay ¥ 1,20,000 as bonus to the employees of _ e F FHHAIET *
EGIH “

the company, :

(i) Topropose dividend @ 10% on equity shares; Gy 10% = S
=T THar & 79
(i) Totransfer¥75.000t0 staff gratuity fund; TR FEA e A

| (iv) To transfer T 60,000 to Development Rebate (i) 75,000 ¥ HHARE & T=gE FW ¥ EAAE
Reserve; _ FT;

(v) To transfer T 2,00,000 to Deferred Taxation
Reserve. Company's capital consisted of _
2.,00,000 equity chares of T 10 each fully paid. (v) 200000 T &9 X 999 §

Transfer T 80,000 from exempt profit reserve T
account to surplus account on 31st March, 2018.
For the year ending at 31st March, 2018 @ .

1 o | .ﬁ.ﬂ.ﬂ .ﬂl-n_u.qﬂlmm .ﬁ._ . o
Divectors transferred ¥ 60,000 to, dividend _ VST SRR (Bxempt
reserve and T 50,000 to debenture redemption

(iv) 60,000 ¥ faFm w2 wg ¥ wwam=i HE;
| FOHT 1 e gt B 10 2 9t 2,00,000 HEAT S0

Profit Reserve A/c) § 80,000 7 =9y faan =

26047/K/227/8500 6
: 26047/K/227/8500 7
P.T.0.



Yl wifes 9 T dEaras fGEm € dfEe
e & U dEes faam itemst T g
2 irez e

(b) Merits and Demerits of Median & Mode.
Ao @R Fgas & 0 SR =

(c) The Standard deviation and coefficient of variation
of a data are 1.2 and 25.6 respectively. Find the

value of Mean.

fFd 2 =1 uAw fawem o fa=a #1 e
FEN: 1.2 3R 256 ® WA F WA T@
Ed T

(d) What are limitations and merits of using Secondary

data ?
fedow siwgl & smm # @l sk M F
&2

(e) Prepare a list of main problems in construction of

Index numbers.
qAFIF & FH # A7 a6l 92 99es #
qH TR i

26048/K/382/8,500/T 2

2

“There are three types of lies-lies, damned lies and statistics
wicked in the order of their naming”. Comment. Also

describe the sources of Secondary data, 15

Y TR # ge-ge, WM 3@ IR IR AW %
w0 OH TR Aws 2 o wifsu faduw ode @
w1t FoE w e

Find the mean, median and mode for the following
collection of responses to the question: “How many parking

tickets have you received this semester 7°° 15

ﬁu%mﬂ%mﬂ@@mﬁwﬂgaﬂ.ﬂmﬂﬁ%
AEAF T FIWC AR W GO H R afd fowe
fi 2 ;

j\J
fad
]
s

b
F-J
e
e
LA
L
4.5
e

_;;E-

26048/K/382/8,500/T 3 P. T. O.
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BCM/D-22 26048
BUSINESS STATISTICS-I
Paper—-BC-302

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and each of it carries
4 marks. You are to attempt any four questions
out of the remaining seven questions carrying
15 marks each.

T gen 1 wtEd 2 dR wew § 4 59
A9E I oW v H ® fRR \w owe @
E F g, o § wes # 15 #w F

o

Compulsory Question ( 31fard wya) |

l. Wnte down 1-2 pages notes on each of the
following : 4x5=20
frafafes & 9 v W 1-2 T # feofei fafaw

(a) “All Statistics are numerical statement of facts but
all numerical statement of facts are not statistics.”

Explain.

26048/K/382/8,500/T P.T. O.



(b)

(c)

(d)

(e)

‘ut wifEsl 9@ W FEew fae € ofed
el % W geEs G |ress ad e
A FHif

Merits and Demerits of Median & Mode.

At @R @ga® & 0 R S

The Standard deviation and coefficient of variation
of a data are 1.2 and 25.6 respectively. Find the

value of Mean,

i 2a w1 s fawem IR o= w1 qonE
FHE: 1.2 3R 256 I WS4 F1 OWH AW

wHifera)

What are limitations and merits of using Secondary

data ?

fgdias sitwsi % Iw@m # dEd sk o F
€?

Prepare a list of main problems in construction of

Index numbers.

Hawi®l & FHw ¥ aM 9l 79 q9ens #i
T §aR @i

26048/K/382/8,500/T 2

Lad

“There are three types of lies-lies, damned lies and statistics
wicked in the order of their naming”. Comment. Also

describe the sources of Secondary data. 15

Y TR F ¥o-ge, M ¥ SR TR e &
wH A IR w2 T feoon =wifew fidtgw wHE @
qdl w1 od g9ue ifaw

Find the mean, median and mode for the following
collection of responses to the question: “How many parking
tickets have you received this semester 7 15
TH % SW ® Fefafen gie = fou mes, oifer el
qgad WA FIOU] AR 30 FEER § R wifd fowe
et &2’ ,

(0 Gt e (0l 1 S o e i e IO
il 003,05 00051 125 252, 2501 1oL T,

26048/K/382/8,500/T 3 P.T.O.



3;3,0,2,2,2,2,1, 1, 1,3, 1, 0,0, 0,1, 1, 3, 1,
H.- H.- Hu M.—. Mu .ﬁ.u Mu_ M- Mw _.- ..__- H.u Hu Qu ﬁ“.w Mw M- uu w._
22,3 2050501015 353530l Bl o eliicn 2, 2, 2,

»4,3,2,2,2,1,5,1,2,2,1,1,1,2,2,2,2, 2,
Gl e ol o Lt o et Tels Lo

Explain the main components of time series data. Which
of these would be most prevalent in data relating to

unemployment ? 15

EH HilW 2A % A UIH B Sed &itew T
¥ wH WG § el siwel ¥ w9R afuw weid
B2

48 students were asked to write the total number of hours
per week they spent on watching television. With this
information find the standard deviation of hours spent

for watching television. 15

26048/K/382/8,500/T 4

43 Tomfdai ° w2 fa=m =1 e ™ & 3 wfo oo
wa T 92 efifasy s ° =3 w9 2 5 WEE
F WY Zoifaed g@d H faam =S w1 Amw fauen
T il

10 8
1 5
12 _ 4

Suppose the following data represent total revenues (in
millions of constant 1995 dollars) by a car rental agency
over the 11-year period 2010 to 2020 : 15

oF wifeu f& fAefafas 22 2010 § 2020 &5 11
g ®1 aly § UF $R A W eF 9 e g5m|
Fa U= (e R 1995 =fer d) =1 wfafHfae
FE B

40 50 7.0 6.0 80 90 50 20 35 55 6.5

26048/K/382/8,500/T 5 PO,



Compute the 5-year moving averages for this annual time

series.

™ i T99 4@ & fou s-adiE g5 e i
AT i

Compute Laspeyre’s, Paasche’s Marshall-Edgeworth,
Dorbish-Bowley and Fisher’s Index numbers for 2020
from the following data. Show that Fisher’s index numbers

satisfies Time Reversal Test (TRT) and Factor Reversal

Test (FRT): 15

frafafas siwsl 9 2020 & foU @, 91 =
avie-usEd, Sifdv-aet AR R @ guwiE F5 T
wifoyl feend & feer =1 2w = oen fodie &=
(TRT) 3t ws=x fade 22 (FRT) & Wq= =@

Item 2015 2020
Price Quantity Price  Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

26048/K/382/8,500/T ]

-

8. i
Apply the method of link, relatives of the following data
and calculate seasonal indices. 15
&ﬁﬂﬂ@,wﬂ@@ﬁmﬂﬂmﬂmgﬁﬂn%
TEFIH HT MU o ;
Quarterly Figures
Quarter 2018 2019 2020 2021 2022
I :
6.0 54 6.8 2 6.6
I
6.5 7.9 6.5 5.8 7.3
II 7.8 84 9.3 7.5 8.0
v 8.7 73 6.4 8.5 7.1
26048/K/382/8,500/T 7



S e Total Pages : 3

BCM/D-22 26049
BUSINESS LAW-I

Paper—BC-303

Time Allowed : 3 Hours] [Maximum Marks : 80

m.u- . f.urj.;_su.:ﬂ..,._ﬁwﬂ_ﬂ_mﬂa.
-’ﬂmﬂuﬂqﬂﬂ.ﬂ.ﬂrﬁ1ﬂ 59 Bifay)

(¢) What is meant by Caveat

Emptor 2

&wﬂﬂ@ﬂqaﬁww

2604 9K/475/8,500/T
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BCM/D-22 26049
BUSINESS [Aw_g

Paper-BC-303

Time Allowed - 3 Hours] [Maximum Marks : 80

Note Attempt five questions in a]], Question No, 1 Is

compulsory, Attempt remaining four questions, out
of remaining eight questions carrying 15 marks each,

ﬁiﬂi.%ﬁﬂﬂﬁﬂﬂuﬁ.ﬁ:gjﬂm
w_ﬂnﬁaﬁﬂ.m.ﬁﬂﬂﬂﬂ,ﬂﬁﬂﬂﬁé
TE B 15 s 3

Compulsory Question (eFard goe)

Answer the following in short - 4x5=20
Fefafes 1 iy 3 I Hifdw .
(a) Distinguish between Coercion and Undue influence.
VIEE SR S T R e SR
(b) What do You mean. by Bil] of Exchange 2
[RELEINE B qoE &2
(¢) What is meant by Caveat Emptor 2

%ﬁﬁ@ﬁmﬂmwu

mmeaw%uqmﬁ.maaq e Bl



(d) Explain Sale by Auction.
e g faE w5 aneE

(¢) What is a Quasi Contract ?
UF ¥ IEn w22

Discuss the essentials of a Valid Proposal. Distinguish a

proposal from invitation for a Proposal. 15

ﬁ.ﬁﬁa%ﬁﬁﬂﬂ%ﬂﬂﬁggg
%@aﬂﬂﬂ&%uﬁﬁ%&mmﬂﬂﬁn_

“No consideration no contract.”” Comment on this statement
and give exceptions of this rule. 15

.F%mmmiﬂﬁmit.ﬂ.ﬂﬁﬂmﬂ&&@n
6R W fm #F awer A

What remedies are available to a party in case of Breach
of a Contract ? 15

TF ST IR H UM ¥ U ue w e w
ITEAR S E7

What do you mean by Contract of Bailment 2 Explain the
rights of Bailor and Bailee. 15

S % SHIET ¥ o W we §) suhem ud
TR F AUER o= i

26049/K/475/8.500/T 2

What do you mean by Ratification ? Explain the necessary
clements for Valid Ratification, 15

%ﬂﬂ%ﬁ%mumﬁﬁwﬁ%%@m
R REC T e B o e

Define a Negotiable instrument. Under what circumstances
is a party to a negotiable instrument discharge of its
liabilities ? 15
T foen w5 oftaifia #if fee sRfafs ¥ s
WEHE foEd w1 U 9w g wfrei w e =t
23

[

What are the essential elements of a contract of Sale ?
Distinguish between Sale and Agreement to- Sale. 15

Eﬂ%ﬁmﬂm%mﬂﬁﬂmﬂﬂﬂﬁmﬂmﬂwi
# N 2 A siw T ,

What is Redressal Machinery for Consumer disputes given
in Consumer Protection Act, 1986 2 15

ST e afaf, 1986 ¥ F T Iusimar faaref
% fau famm @1 = 22

26049/K/475/8,500/T 3
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BCM/D-22 26050
COMPANY LAW
Paper-BC-304

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from the
remaining eight questions.

Tl W™ A FIG0 W9 §EN 1 stEE #1 9y
S W¥H H § FE AR WA wfem)
Compulsory Question ( 3ifamd wyT)

1. Write short answers on the following : 4x5=20
frfafen W gfas s fafe:
(a) What is meant by ‘Perpetual Succession’. ?
‘Haq SEiUe’ ® w sifuwm 22
(b) Define the ‘Defunct Company’.
‘Tferr weE’ = uftafen =it
(¢) What is “Red-Herring Prospectus’ 7
‘Te-Efin wlgam’ = 87
(d) What do you understand by Bonus Shares’ ?

.

‘9FE S ¥ e W OuEs 22

26050/K/443/8.500 P.T.O.



(e) National Securities Depositories Limited (NSDL).
=g gy FeEmm Wﬁmw (NSDL)I

What is a Joint Stock Company ? Explain its advantages
and disadvantages. 15
RECIR CU a2 M O R
EGIERY

Distinguish between a Private and a Public Company. 15
fsft ®vrft qen wewhE e 9 s @R

Explain the ‘Doctrine of Ultra Vires’ and State effects of
Ultra Vires Transactions. 15

‘oeg T & fagia’ oW e amd S 3 T
I9E H e i)

Define prospectus and State “its contents. Under
what circumstances a Company need not issue
prospectus ? 15

u@ﬂaﬂ%ﬂﬁmﬂﬂmmﬁﬁ_ﬂﬁﬂ%ﬂﬁaﬂ_
f&m oitfafed & et s =1 sfyeor o =@ =
FEvTEa T 27

Define Memorandum of Association. Explain different
clauses ol Memorandum of Association. 15
A "ed & g wifsv W g 3 fafiis
@Il W =E st

26050/K/443/8,500 2

Define the Share Certificate and Share Warrant.
Differentiate &ﬂs.nmz the Share Certificate and Share
Warrant. 15
Y T A9 AN S w1 gRefan wifw s w3 st
a9 SfaeF F e =R

Write a detailed notes on the following :

frafafed w fame feofiml fafas:

(a) Registration of Charges. 77
AR I USTHLOI
(b) Borrowing Power of a Company. 8

FEET ® OIYR EH FT 9

What is Depository system in India 2 Explain its
characteristics and benefits in detail. 15

R e yomedt w87 st favmaed stk ey
=RAT Hifen)

26050/K/443/8,500 3
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BCM/D-22 26051
INDIAN FINANCIAL SYSTEM
Paper-BC-305

lime Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions, in all. Question No. 1 is
compulsory. Attempt any four questions from the
remaining eight questions.

T WS §¥T FifA0) 599 T2 1 afE 2 vy
}MS WA H H FE W oy s

Compulsory Question ( 3ifamd wve)

. Write short notes on the following : 5x4=20

et w i fofr fofer:

(a) Money Market. (b) Non-Performing Assets.
21 AR - frenfaa sifi|

(¢) New Issue Market. (d) Commercial Paper.
T SE AR i T3

(e) E-banking.
ST

2. What do you understand by Financial System ? Give an
overview of Indian Financial System, 15

26051/K/626/7,800/T P.T. 0.

=



Lad

6.

&eia womelt | oy T wwem #2 s fasm gomed
F1 AGGE it

What is Debt market ? Discuss various Debt Market
instruments. 15

H AR FN T2 HY AR F AN I w e
Hifau|
Write a detailed note on role and importance of

Securities and Exchange Board of India in Indian Capital
market. 15

SRAE Y AR F W et on e G w5t
ol AR WES W uF fawgw fewnh fefem

What is Secondary Market ? Discuss various functions
of Secondary Market. 15

el "e =1 20 s aom B fafes sl o
o= Hite)

What do you understand by Depository System ? Discuss
its advantages over the Traditional system of Issuing
Securities. 15
Femmm yoret | e P w2 el s
FT1 K TRERE WO F oger ¥ TEE @l w9 we
EdiEnd

Discuss importance and functions of Reserve Bank of
India. 15

T o 9% F Tew w6 wE B faaew s

26051/K/626/7.800/T 2

8.

‘Commercial Banks are building blocks of Indian
Economy”. Discuss this statement in light of role of
Commercial Banks. 15
‘A dF o ademmmn & fmm o@e: 8
i d=i &t gfom & oreiE § 55 R w5 faa
EdlE L] :

What are Development Banks ? Discuss their importance
in context of development of Indian Economy. 15

o 9% F0 T4 22 andm ademr & e w
=g d T med @1 faEwm wif

26051/K/626/7,800/T 3
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BCM/D-22 26052
RURAL MARKETING
Paper-BC-306(i)
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is
. compulsory. Attempt remaining four questions. out
of remaining eight questions carrying 15 marks each.

yﬁﬂﬂﬁ&ﬂ%ﬂ@&ﬂuﬁﬂ_%ﬁ
m_ﬂnﬁmﬂﬂ.mﬂﬂmﬁ%ﬂﬁ_ﬁﬁ_ﬂe
THF & 15 &t 8

Compulsory Question ( 31fard PEED)
I.  Write short notes on the following : 5x4=20_
Feifafen w s feofort ff ;
(a) Rural Marketing Mix,
THY faguE fag
(b) Rural consumer behaviour.
AHIT IYHIHT SR
(c) Base of Rural Market Segmentation.
UHT AR S T s
(d) Four C’s of Pricing in Rural Marketing.

i&@dﬂm&dﬁﬂmﬁﬂm«ﬂﬁﬁﬁ

26052/K/228/6,700/T P.TO.



(¢) Haats and Mandis.
B2 AR T

Define the Rural Marketing. Is the rural market different
from the Urban market in the current scenario? Comment.
|

i fww @ e @ = deE e
THIO AR Vel AR | sem 27 feoyoit wifem

Briefly describe Rural Marketing Environment. How does
the Rural Marketing Environment affect the marketing
decisions and opportunities? Explain with examples. 15
THM FUUE wEEm w1 oG9 W o9uie wifew o
FA@ §7 IV died wEEU

What do you mean by Rural Marketing Strategy? What
is the role of product strategies in Rural Marketing?
Explain. 15
urHr fagvE Hifa | e @ gEme € 2 g fauom
o IR EfE o gfaw €7 gHEE

Define the Sales Promotion. What are the Sales Promotion

tools most likely to succeed in Rural markets? Explain
with suitable examples. 15

forg gags =1 wfafeg wifem oy a=m 8 95
1 # fau wad afus fast dad s w8 8 22
IILF FERTN & WY gHE

26052/K/228/6,700/T 2

What do you mean by Pricing Strategy? Discuss various
pricing strategies while marketing Rural products. 15

Hid Aifd § AT F GHAS 7 2 UE IR F I
FW 9 s gew fufor o w == S

What is Personal Salesmanship? Discuss the important

traits of Rural Salespersons. 15

{
S fawl Fw@ #7122 wE fma § gee
e = == Hifem)
What are the challenges of Rural Physical Distribution?
How do you overcome those challenges? 15

Y difaw fawor w1 e @ €2 amm s
wHifad & Hd 9 9 £?

Discuss the role of the Government agencies and the:
NGOs in Indian Rural Marketing. Give suitable examples.

15
dE aw fagrm § oamr e et owe
FSAl HI qiHEH] T GH HIGC ITIE SIS A

26052/K/228/6,700/T 3
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BCM/D-22 26053
FOREIGN TRADE OF INDIA
Paper-BC-306(ii)
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is
compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 15 marks each.

wA U WA % S Siteel weE wem 1 sfrerd
21 99 313 wvAl ¥ ¥ 9 WA &1 99E wifeu)
¥bEw 3 15 % B

Compulsory Question ( 2fard wyT)
1. Write short notes on the following : 5x4=20
frefafan w wfea feafrl fafaw -

(a) Difference between Balance of Trade and Balance
of Payment.

SR §IEH @ TRA Sged § S
(b) Performa invoice:
WIEE] =T |
(¢) Special Economic Zone mm‘m...w”_.
favm anfies &=
26053/K/229/1,750 | P.T. O.



(d) Functions of Bill of Lading.
et fawm & @@

(e) Star Trading Houses.
TR NS T8

Explain the main features of Indian Foreign Trade. What
type of problems are being faced by Indian Foreign Trade?
6.9

T foREt =mn w6 gen faveamet @ sren st
qeE faRyi =R fme yer w0 gEens #1910
w® 22

Explain in detail the major International Commercial terms
(INCO TERMS) in Foreign Trade. 15

faelt =R A yam B anh ge e st
WSl FI A Hifgl

Explain the Procedure to be followed for the Exporting
of Goods. 15
Fgs & fEm § o W oaet wEm @ osem
hifeg|

What is Letter of Credit? Who are the parties to the
Letter of Credit? Also describe the various types of Letter
of Credit. : h.-_m_.um. -
@ T F E? W@ T R SH-HH § YEER B 82
fafr= v/ % w/@ @ #1 § =mEn s

26053/K/229/1,750 2

What is Export Promotion? What measures have been
adopted by Government of India for the promotion of
Exports in India? 3,12

fraia Wiered #= 22 9ra § fafa @ aem 3 @ R
YRd ¥R G0 1 39F A T £

What is International Product Life Cycle? Explain the
various stages of Product Life Cycle in International Market.
3,12

AR IR a7 o%F 70 g 27 AodeE TR
m.mﬁnmmﬁmﬂﬂm?ﬂﬁﬁa&ﬂﬂ:ﬂ_
Eqimpd

What is WTO ? State the main objectives and Agreements
of WTO ? . 3,12
foava =R ¥TeT w1 €2 fava =R ¥R ® g
IT¥El qY1 gHEEl F1 FaEu)
What is IMF ? Indicate the main Objectives of IMF.
3,12
AT G F19 0 B2 FE g W @ gen
32¥A 3| sifem

26053/K/229/1,750 "



Roll NO. e Total Pages : 4
o Write short notes on the tollowing K]

freffafas = wfes et faf. BCM/D-22 26065

(a) Tree traversal. DATA STRUCTURE

& el Paper-BC (VOC)-305
(b) Double and Circular Queue, Time Allowed : 3 Hours] [Maximum Marks : 60
Tad AR FAER HAR S ; :
Note : Attempt five questions in all, Question No. 1 is
compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 10 marks each.
wG WS WA F I A v e 1 afErd
€ WW e ¥ § ¥ WR weR @ g s
THE W 10 FHE B
Compulsory Question ( arforard Tyt )
1. Attempt the following questions : 5x4=20

Fefafen o & sw dfsm .

(a) Write formula for location search in 2-D Column-
Major Array.

-3 Fem-9R W 4 dwve §d B feg witan
fafan)
(b) Abbreviate FCFS. DLL. LIFQ. ISAM.

dfemd ity

26065/K/233/850/T 4 26065/K/233/850/T P. T..O.



(¢} Name Applications ol Stack.

(d)  Write INSERT operation in Serial File System;
Hiter wEa foey § INSER| st ferfam)

(e) Write 4 operations on File.

TR W 4 #AEE fafe

(@) Define the Data structure and write note on Linear
and Non-linear Data structure.

<A HeE FH wfonf i 3N e R -ifaw
2T HEW W feoqofy fefam)

(b) Write storage methods used to store 1-D Array using
integer Data types.

%mﬂuﬂﬁfﬁmﬂﬁ FH -2 0 =
FIE 6 # fou sogm w1 a6l HUE
fafe= fafem) ! 10
Discuss the Stack structure, Write Algorithms for Push and
POP with conditions of overflow and underflow:, 10

ﬂﬂﬂmﬂﬂﬂiﬂﬁm. Afwaw v sizwe =
%%Hnﬁ%&i%@m%ﬂﬂé

Explain use of Stack in Recursion and Quick Sort. 10

mﬂ%%mﬁmﬂﬂﬂ.m@ﬂﬂmﬂﬂﬂﬂﬂﬂ_

26065/K/233/850/T 2

Tk

0.

Define 1ist as Data structure Explain algorithms to insert
At-End and At-Position-K in Single Linked List. 10
T ﬁ.@mﬂmﬂﬂmﬁmgﬂﬁn_mﬁﬂ@ﬂ
ﬂﬂmﬁ-ﬁﬁfﬁ1£@ﬁ-%ﬂﬂﬂﬂa§
F = Fifew) .

(a) Define Tree, Binary tree and Full Binary tree.

%.i%%ﬁﬁi%ﬂg%@

(b) What is significance of degree of Freedom in B-trec
and discuss Insertion in B-tree with degree of
Freedom as 4.

-3 F wE # felt w1 ve § ok A-gy
maﬂﬂmﬂﬂaﬂg%ﬂm%ﬂﬂ
=40 Fifeg) : 10

(@) Define the File and various types of files.
wEe N fafe= w R ¥ wEe Tt =Fifer)
(b) Discuss Insertion and Updation in Direct File
organization.
AR FTEe SRS 0 v el sqdve w
g wifeu| 10
Explain Index Sequential Organization with Insertion.

Deletion and Updation. Explain why Insertion and Deletion
is difficult in Index Files. 10

?ﬂﬁﬁ%ﬂ%ﬁmﬁ&ﬂz%@ﬂﬂmﬂﬂ
%ﬂﬂﬁﬂﬂﬂﬂﬂﬂ@ﬁﬁﬂmﬂr
T SR feoftvm mftew = 2

26065/K/233/850/T 3 PO,



(h) Each course can have any number of students.
Y WeEEE H o w1 gel @ g f

(a) Explain various types of integrity constraints over
relations in a Relational Data model. 5
FAYRE 221 Hled H daul W fafa= vER
FEEal TUTS 1 ATEW il

(b) What is Relational model? Explain with suitable
example. Explain various properties of relational
tables. 5

WAUTF Hige 1 €7 IUIH TSI T THE
Hagw " & fafas on w5 saren Fifew

What do you mean by SQL ? Explain the Data types

available in SQL. Also explain how does SQL implement i

different integrity constrainis with example. 10

SQL & #MYH ¥ Ha@d €7 SQL H IUE =@
TEH FH AHLAGU STE ® WY e« gumw fE
SQL Fem-aTam sT@em ae H Hd @n w2

Explain various DML commands with examples. 10
fafr= domem Faiew = 3 Wfed wEemw

Discuss various applications of ORACLE in business.
7o) 10

26066/K/663/850/T 4

Roll
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Time Allowed : 3 Hours]

Note

zﬁ.u. 2101 1402Y...

Total Pages : 4

BCM/D-22 - 26066
NDAMENTALS OF DATABASE MANAGEMENT
SYSTEM-I

Paper-BC-3 __“__m

ﬁ?_ﬁm_ﬁ um Marks : 60

Attempt five questions in all, Question No. 1 is
compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 10 marks each.

R e R T T ————
?ﬂaﬁﬂﬂ&ﬁﬁﬂﬂaﬂﬁﬂﬂﬁe
YEE F 10 AF B

Compulsory Question
Answer the following short answer type questions :
frefafes @9 a9 W ® I A
(a) Discuss the Primary role of Database designer.
TREY feew # wufs 9w F 9= wiw
(b) Define Emwr Entity type and ?_mwm data.
S T YRR SR dea W vRenf @

26066/K/663/850/T i b



et =

3.

(¢) Explain the meaning of full Functional dependency

with example.
T weREa fevedl w1 od 32w fed wmmmEuw

(d) What is the difference between Casual and Naive
end-user?

H9HE T 99 US-g5X § ¥ W 27
(e) What are the different methods to access SQL plan?

morgﬂﬂmﬂwﬂgﬂ%ﬂdmm.
. 5%4=20

(a) What are the advantages of Database system over
traditional file processing system? 5

ﬂ%ﬂaﬂ%?ﬂnﬂ@ﬂﬂﬂ@iﬂ
faen & 70 @8 82

(b) Explain at least five major objectives of a Database

system. S8

mﬂ@ﬁ?ﬁn%ﬂnﬁﬁﬂm%mﬂ&ﬂ
e Hifegl

Discuss in detail the three-level architecture of DBMS.

O

" opta S
- B o

DBMS % fi-wi sifide w frem @ = wh

26066/K/663/850/T - 2

4.

What do you mean by Normalization? Explain 1NF, 2NF,
3NF and BCNF with example in detail. 10
WA § 9 F1 gHed €2 INF, 2NF, 3NF sk
BCNF ! 33w Hfed fawm | 9wsmu
5. Designan ER Model for a college database with following
assumptions : 10
Fefafen ar@sll % W wF Fiew 2Tew % fou
R Hew fewma ifwm -
(a) A College contains many departments.
- T waw ¥ w1 faam @) §
(b) Each department can offer any number of noﬁ.m.n.
e faam fed @ wen § TEFFA HI UIHT
F TFEA @
{c) Many teachers can work in a department. ¥
uF faum A = fags wm o g9wd £
(d) A teacher can work only in one department.
e L B
(¢) Each teacher can be taken by only one teacher.
eI NG ED ﬂ Fad mﬂ foe= g0 famn w1 w=a
21,
_.,._A.E. .> mEnnE can, enrol for any number of courses,
T o R @ W i aifeet @ wwa @)
26066/K/663/850/T 3 P.T.O.



of Monthly Declarations — 2 1 crore, calculate
Provisional Premium and Refund of Premium. 10

S =eon giferdt & qme o, aft sifag ot - 2 7
wUs, Hifaq &t R/ - 1 7 9 fie, ok wfaw
=S 1 SN - 1 w9 TR, st i sk
Hifeas T arat 1 7o )

What is role of GIC in fire insurance in India? Give
your comments on progress of fire insurance in India.
Also describe some of the fire protection policies
issued by GIC. 10

R H Al offmr § GIC®T 741 it #2 9wa § afg
AT T WG 9T 7ot feognqt <) GIC &/ S’ =i T8

HP Al gran Hffaat 1 ot auf 1)
Describethe following in reference to fire insurance
policy : 10

e = aiferdt = waet § Frefefiad 1 gvi

(1) Fire insurance Policies of Private sector
companies.

STt &1 =T afal St A o Aifear |

(i1) Conditions of fire insurance policies.
A = uifafast =1 o |

(111) Stepsinrate fixation in fire insurance.

S = | < fufor + =1 |

26069/K/234/50/T 4

Roll-hlo! oo Total Pages : 4

BCM/D-22 26069

FIRE INSURANCE
Paper—BC(VOC)-305

Time allowed : 3 Hours] [Maximum Marks : 60
Note : Attempt five questions in all. Question No. 1 i«
compulsory. Attempt remaining four questions out of
the remaining questions,
FA T T & I A | 937 g 1 sfEd @
19 W F 9§ R O v @ s g |
Compulsory Question ( 3ifErd wog ) .
1.  Write short notes on the m.n.:a_._.,wmm up to 1-2 pages : ]
Frafafen o 1-2 g o o froforat fory . -~ e
i) Origin of Fire Insurance, : 4
AT =tan =t 3eaf |
(b) Excess Insurance and douhl insurance, 4
sififeen s ok S |
(c) Local Authorities Clause in fire insurance. 4
At dim H w2 g s |
(d)  Principle of Subrogation. 4 .
et 1 fagia |
26069/K/234/50/T PTO
= ALl

-~ el



(e) Onusofproofunder fire insurance claims, 4

: AT & FaEt & qed wuy 5 i |

2. Explain the features of the fire insurance policy and
status of the fire insurance policy in India. Explain
the various types of fire insurance policics. 10

A H A e ifert w1 fiwaei el s
wifers! #1 feufa =1 =ren #ifg | fafes vor 33
<Afrs =i Sifeifaal =t e Fifem |

3. ._n“._ummﬂﬂum the following : 10
Fr=fafaa =1 avf #ifa .
(a) Indemnityand Insurance.

| afergfef i affam |

(b) Reinstatement Value.

R R —— — T a RS

| TR e |
. (¢) Renewaloffire insurance.
| 7 sitan =1 T |
(d)  Local Authorities Clause.
T WY T |

4. What are various risks and hazards covered under
Fire Insurance ? What are allied perils in Fire

~ insurance policy? What are the perils the fire
insurance does not cover? 10

26069/K/234/50/T 2

b -
ahacie

HT =11 % 3forfa = are fafv= sifas ok @ =0
#2 aft i et & Hag s == €2 af o
foret Sl = et e e 2

Explain the steps needed to file claim under a Fire
insurance policy in India. Also list out the common

documents required for filing claims under a
standard fire and special peril policy. 10

R H A i1 uifewt # 989 61 TR FH B fog
YA FEH FI AT FL TF G A AR ey
i difert & 7aq e qfEe w0 # fou smEvas
A TS g o ==
Explain the followingin brief; 10
(i) Legalissuesin fireinsurance.

A i A 9R |
(ii) Progressoffire .thmﬁ.mﬁnm in India.

qRa | A= o =5y g |

(111) Start-upexpenses under fireinsurance.

& =i = e wE-Y T |

(iv) Reinsurance and Double insurance.
YETAT SR 2re )

In case of a Fire Declaration Policy, if Sum Insured —
T 2crore, Rate of premium —% 1 per mill., and Average

26069/K/234/50/T 3 P.T.O.
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Note

1.

26070/K/726/50 P.T. O.

- Time Allowed : 3 Hours]

mn_sa._ﬁ . h _.._wmoqc

INSURANCE BUSINESS REGULATIONS

Paper—BC(Voc)-306

[Maximum Marks : 60

: ._P:nﬂnﬁ five questions in all, Question No. 1 is

compulsory. Attempt remaining four questions, out
of remaining eight questions carrying 10 marks each.

F@ Urer weAl @ I A W "em 1 e
21 79 @ g H 6 W 9EA H1 WA &)
TEE B 10 #HE 2

Compulsory O:nwﬁmnn

Answer the following short questions : 5%4=20
frfafaa &g 9o % S Al

(a)

(b)

(c)

What is Miecro Insurance?

oy & | T e )

Define the Social Insurance.

oot | H ufEiea wife)

What are the functions of IRDA Act ?

s amEin, afEm F = EH 9 22

I



s L P

What are different types of Insurance Policies under
Motor vehicle Act, 1988 7

e T T Tiuy v s gae 6.
ofedt ®H-®F ol ﬁ

(e) EEE are the EdEmEﬂm of Indian Life __._mEﬁunm

(d)

hoﬂc.ﬂw:o: Act, 1956 with reference to Life Insurance
contract 7

[

A ARELY. F e foer @ fawig guEw gaH
a1 F =ATAT FHITAU)

Explain the Powers and Authorities of life Insurance

corporation Act, 1956. : LO

ﬂﬂ%ﬂﬂﬁmﬂ_&m%ﬂiﬁqﬂﬂmﬂ
wifgmat &1 sarEd ity

i 7. What is Export credit and Guarantee Corporation Act ?
qGE Sieq | sfatEe 1956 & Sfiee | = X =
. : y What is its process to Cover risk ? . -10
FEY FHAfE WEHE wH " 87
. ., \ frafa o wd TS fm sfufFam F= €2 399 el

2. Explain ﬁra.ﬁ_dﬁm_uum of the Insurance Act, 1938 with e v Ly
refrence to investments by the Insurances. 10
7 wEEY B SRy gafi| a9 St 1938 & m.” Write a mn,q,m:_wm note on naumzin_. Protection. 10
WEHE] 1 SATEA it . o g IudtF qEv W fawga feoroft wife)

-3.. Explain the duties and Powers of Insurance Regulatory 9. What do you mean by Insurance Ombudsman? Also explain
and development authority Act; 1999. 10 his Powers in detail. S
&H%gﬁﬁﬂ.ﬂﬂﬁﬂa%ﬁﬂzﬁﬂ T e S Qe gt
e UH AfdsRl 1 e wifau) . Bk } TR

4.  Explain the provisions of Ennﬂmim of Insurance agents
under the _,zmzqm:nn Act, 1938. 10
i wfufm 1938 & fdm @tm e % andw
W YEYE F1 OSSN Sl

5. Explain the role of IRDA in grievance redressal and
Financial inclusion. 10

I LAY s i,
26070/K/726/50 2 26070/K/726/50 3 -
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BCM/D-22 26071
ADVERTISING MEDIA
Paper-BC (VOC)-305

Time Allowed : 3 Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions from the
remaining eight questions.

e Ui WY Hifeg 9y wew 1 sftad #1 vw
e T 4 ® OwE WR v #Hifeu

Compulsory Question ( 3tfard wv)
1. Write short notes on the following : 5x4=20
fretfafan W i fesfor fafa: LA
(1) Types of Direct Mail Media.
TEH S Hifedl & RN
(ii) Problems of reaching Rural Audience in Advertising.
fammm g0 oo Susiensl o v § =)
(i11)) Media Frequency.
difean smafa ,
(iv) Steps involved in Media Planning.

Hifear faem & =
26071/K/574/100 P.T.O.



Ln

(V) Various Phases of Media Scheduling.
Hifsa wogagEm # fafas HITT|

What do you mean by Social Media ? Discuss various
merits and limitations of Social Media. 10

ﬂaﬁﬂﬂmﬁﬂﬁqsﬁﬂﬁﬂaﬁﬂmﬂﬁﬂ
%ﬁ&ﬂ.ﬂﬂm&m%@

What is Media ? Give a Comparative analysis of various
forms of Media available for Advertiser in India. 10

Write notes on the ?:aﬁ_g.nm : 5.5
Fefafas w feofirgt et
(a) Exhibitions and Mela mmanmmEm tool.

YR T e wh e e
(b) Press Conference. .

U9 FTRE
What is Media Planning ? Also explain the problems of
Media Planning, 10
HifEar friem g wed ¥ e a1 gaems
F1 G0 Fifeg
Explain factors affecting Media Planning, 10

&wﬁmﬁaﬂﬁﬂmﬂﬂﬂ@iﬂ%ﬁﬂﬂ

26071/K/574/100 2

7.

Explain the effect of advertising on Production Cost and
Distribution Cost. 10

SURT WPE T faww w@rm W T % yam 5
BEEE
Explain different strategies of Media scheduling. 10

&Wﬂﬁﬂﬂﬂﬂﬂﬁmﬂ%ﬁﬂﬁdﬂwﬁ_

What are the Consideration in Media scheduling 7 10

%gﬂmﬂﬂﬂﬁmimﬁﬂi
FHA-g 82

26071/K/574/100 3
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BCQ/D-22 26073

COST ACCOUNTING
Paper : BC-501

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

e FE uiw T s YW 9 uw stEd #

1. Compulsory Question
sfEd gy

(1) Give functional classification of cost.
(ii) Explain the effect of Labour Turnover on Cost.

(iii) State the methods of accounting of office and
administrative overheads.

(iv) Give the meaning and features of Contract Costing.
(v) Explain the managerial uses of Variance Analysis.
(5x4=20)

() =W % FEEs T F1 S Fih)
(i) ¥FE R HY HEd % FWE B e Fh

26073/8600/KD/465/Trans. [P.T.O.



2.

3.

Mar. 1  Opening Balance

(ili) FHfeE R TEiE 9T F S@isd =1 & w5
IeE Hife|

(iv) SEY @ fufor w1 o ok favmet =1 Seew
el

(v) WETO fave9u & FE9HE I9E0 S S S

Define Cost Accounting. Explain the objects and methods
of Cost Accounting. 15

A w@iEA B uieafya wifo @ dE@iEmT B I
&R fafial =t =men Hifan)

(a) What is meant by material control? Explain objectives
of material control.

(b) The followings are the particulars of the receipts and
issues of material in factory during March 2019:

500 kg @ Rs. 25.00 per kg
8 Issued 250 kg
13 Received from vendors 200 kg @ Rs. 24.50 per kg
14 Return of surplus from

a work order 15 kg @ Rs. 24 per kg
16 Issued 180 kg
20 Received from vendor 240 kg @ Rs. 24.37 per kg

26073/8600/KD/465 2

24 Issued 304 kg

25 Received from vendor 320 kg @ Rs. 24.31 per kg
26 Issued 112 kg

27 Return of surplus from

a work order 12 kg @ Rs. 24.50 per kg
28 Received from the

vendor 100 kg @ Rs. 25 per kg
29 Return to vendor 50 kg

The store verifier of the factory noted that on 15th March
there was shortage of 5 kg. and on 27th March the another
shortage of 8 kg. Write out the complete Store Ledger
Account in respect of the above material using FIFO

method. 5+10

() Sl FrEe @ = aed 22 o fEEm § skl
H SRS FHitog)

@ T 2019 B 2R FRER F A B wha wE A
1 faao frefafes 2 -

e 1 ARES 9 500 f&m @ 25 % Wi fem
8 Wit fea 250 fem
13 foawdt @ wifta 200 fm @ 24.50 % wfa fem
14 T IR¥ ¥ e
w1 I 15 P @ 24 & wfa fem
26073/8600/KD/465 3 [P.T.O.



16 <t fama 180 farmm
20 fowdt 9 wiig 240 &M @ 24.37 = Wiy fem
24 =T far 304 f&m
25 fowdt @ wii 320 o @ 2431 = wfy fepm
26 I ey 112 fm
27 w syl § stfiey

ST A9 12 fF @ 24.50 % wfy g
28 fomdt @ s 100 T @ 25 % wfy fgm
29 fawdft # At o ey

ﬂmﬂlﬂﬁaﬂﬂiwﬂ@mdﬂﬂugﬂﬁ&
3R 21 7 = 8 Fow B 7w ok I o FIRO Pty
I I T S A R gy F v 2k
@R H fafem)

(2) Explain the causes and accounting treatment of Ide
Time,

(b) Discuss Halsey and Rowan Premium plans with their
merits and demerits, 748

@Eﬂuﬂﬁﬂﬂg%ﬂﬂﬂmﬁmﬁé
i)

@i&nﬁﬂ_ﬂ&?ﬁ%ﬂ&ﬂﬂﬂu&
%&iﬂﬁnﬁmﬂﬂwﬂ_

26073/8600/KD/465 4

5.

26073/8600/KD/465 5

What do you understand by Allocation, Apportionment and
Absorption of overheads? Explain the different methods of
absorption of Factory Overheads, 15

SR &% wEed, fawem SR sy @ s
T wRER B IRem @ sEwem s ffes
faftl =t = =i

In respect of a factory the following figures have been
obtained for the year 2021.

Cost of the materials Rs. 6,00,000
Wages for Labour Rs. 5,00,000
Factory Overheads Rs. 3,00,000
Administrative Charges Rs. 3,36,000
Selling Expenses w.m.. 2,24,000
Distribution Charges Rs. 1,40,000
Profit Rs. 4,20,000

A work order has been executed in 2022 and the following
expenses have been incurred :

Materials Rs. 8,000

Wages of Labour Rs. 5,000

Assuming that in 2022 the rate of factory overheads has
gone up by 20%; Distribution Charges have gone down by
10% and Selling and Administration charges each have been
gone up by 12.5%. At price should the work order be

executed so as to earn the same rate of proft on the selling
prices as in 2021. Factory overheads are based on the Direct

[P.T.O.



Labour and Administration, Selling & Distribution charges
on Factory Cost, 15

ot wEr ® w9y § 39 2021 % fo frefefen sime
T fen .

ot F: wE % 6,00,000
M & fau 4 % 5,00,000
Haed Iuftem T. 3,00,000
WHHF Yo% % 3,36,000
famt =9 %. 2,24,000

famo = % 1,40,000
e % 4,20,000

Mﬁmmnﬂﬂaﬁwﬂﬂﬂ_ﬁﬂmﬂﬁmﬁﬂﬂ%
g fey #

| % 8,000
A9 T qaA % 5,000

9 S 2022 F ¥l svftem #t W 20% 7w
2, foraw o F 10% = e o A famd el wemes
U T ¥ 12.5% # 9fe & #1 T W s iy 9
Fronfa foean s =few @ifis 2021 =7 fast =t o oy
1 TH R AT F o w91 St sefern et am
R YA 7 SRy, e sk e o w s
gl

26073/8600/KD/465 6

The Product of a company passes through three different
processes A, B and C. It is ascertained from the past
experience that loss in each process is incurred as under:

Process A 2%; Process B 5%: Process C 10%

The percentage of loss in each case is computed on the
basis of number of units entering the process concerned,
The loss of each process has a scrap value. The loss of
Process A and B is sold at Rs. 1 per unit and that of
Process C at Rs. 4 per unit. The company gives you the
following figures for the month of July 2020,

2000 units of crude materials were introduced in Process A
at a cost of Rs. 8 per unit. Besides this the following were
other expenses.

Process A Process B Process C
Materials consumed  Rs, 8,000 Rs. 3,000 Rs. 2.000

Direct Labour Rs. 12,000 Rs. 8,000 Rs. 6,000
Work Expenses Rs. 2,000 Rs. 1,000 Rs. 3,000
Output units 1950 units 1925 units 1590
Stock: Julyl units 200 units 300 units 500
July 31 units 150 units 400 ..........

Stock : Valuation
on July 1, per unit Rs. 19 Rs. 27  Rs. 36.50

Stock on 31s July 2020 is to be valued at cost shown by
month's production accounts. Prepare the Process accounts.

15

26073/8600/KD/465 7 [P.T.O.



A F1 IR A7 fafe= shEe A, B ok € @ Ra
2 frod sme @ 9% v e ¢ e wew whea § el
Fremew et # wiem A F 2%, wiEm B s%, whEar ©
q 10% | TOF Ae § [FEH B IR 3 T gut
W ¥ W T A e # gem @ emR w s
ST B YEF WA ® THER F UF S g e #)
Y A SR B % wft 1 % uf e sk vhEm c =
4 % W0 TR F WA At 9w f R s e
2020 WER F frafafas s 2 &1 whew AF 8 =
TP H A B 2000 qHR FI U @ WY I w1 oW
9t e sfefien fefafes o= =1 ¢ .

e A  wWEm B whEW C

"t @ e ¥ 8,000 ¥ 3,000 % 2,000
TEH gH % 12,000 % 8000 % 6,000
F4 =g %2000 % 1,000 % 3,000
EllEe! gz 1950 e 1925 FfR= 1590
i e 1 M2 200 3IF= 300 g 500

s 31 g2 150  af= 400
wiE : 1 o
I e diFA, W0 FE % 19 T 27 % 3650

31 OR 2020 F WiH F qEEFT TR IO
BN SXE T WM R A s 3 wiEa = m s daw
g

26073/8600/KD/465 8

. In a factory, the Standard Cost of Chemical Mix is:

X : 60 kgs @ Rs. 5 per kg
Y : 40 kgs @ Rs. 10 per kg
Standard Yields is 70 % of Input.
The actual cost for period is as under
X : BO kgs @ Rs. 4.50 per kg
Y : 70 kgs @ Rs. 8 per kg
Actual Yield is 115 kgs
Compute Material variance and established relationship

among them. 15

% HRd o, wWEtw g 5w o
X:60 fom @ 5 w5 wfa fem
Y: 40 fFm @ 10 % wfa fem
TIYE 1 TFF ST 70% B .
Iafy # fau arafas @ FremEER 2
X: 80 fFm @ 450 = wfg fEm
Y:70 fFm @ 8 © Wiy fem
arcatas 3= 115 fFm #
Tt fa=rar ®t ToE iR e dte gy i S

- Explain the concept of Cost Reduction. What are the major

areas in which cost reduction is usually possible? 15
T § FHHT HI SEURON F A HIAC TE DA T
&% & e o § w4t ek W g 22

26073/8600/KD/465 9
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BCQ/D-22 26074
FINANCIAL MANAGEMENT
Paper: BC-502
Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 comprising of five questions short answer
type carrying four marks each is compulsory. Attempt
four questions from the remaining eight questions carrying
15 marks each.

e Emﬂﬂmqﬂﬂmmid.ﬁm%uﬁﬂiﬂ
ﬂﬂﬂﬂm&ﬁﬂiw_%,ﬁaﬂ&m@ﬁm
ﬂmmﬂu_ﬂ?&ﬂﬂﬂﬁ:m.ﬂﬂ_w_,

Compulsory Question
(frard wew)
1.  Write notes on the following :

(i) Difference between Watered capital and Over-
capitalization.

26074/8600/KD/549/Trans. [P.T.O.



(ii) What is the need of financial forecasting in a company?
(iii) Difference between share and stock.

(iv) Explain the objectives of cash management.

(v) Explain Internal Rate of Return,

fr w dfew feomlt fafaa:

() Tofam oot iR sieR-gsfiem & d9 S| W=
FHifeg)

(i) Rt worlt § fadm qEiEm W = smEvEsa 22

(i) R R B & 99 dw we wi

(iv) U%g YU % TEWEl I SRS Hifew)

(v) Wawd ® Hafs W H1 AR HieQ

What is financial planning? What are its features? Discuss
the process of estimating long term financial needs of a

company.

fasitm domn = #7 ot faved w=n €7 R S
it e o AmEvaEwas & owed w geae
#1 faa=m wl

26074/8600/KD/549 2

What is meant by over-capitalization? Discuss the effect of
over-capitalization and suggest some remedies to overcome
them.

Ffa-gsfie &1 ¥ gwE 2?2 afa-dSiem ® waEl
# fod=m Fitm o R [ FE F U wp ImER
T

Write brief notes on the following:

(i) = Public Deposits.

(ii) Ploughing Back of Profits.

(iii) Right of pre-emption.

frafafes w wfgw feoo fafaa:
() WSS S

(i) @9 gAfEm

(i) [EHT F USRI

The following information has been extracted from the
balance sheet of XYZ Ltd. as on March 31, 2022;

Equity (Rs. 100 each). Rs. 10,00,000

109% Debentures Rs. 7,00,000

15% Term loan Rs. 15,00,000

13% Preference capital Rs. 8.00,000

Total Rs. 40,00,000
26074/8600/KD/549 3 [P.T.O.



Corporate tax rate applicable to the company is 30%,.

(@) You are required to determine the weighted average
cost of capital of the company. It had been paying
dividends at an average rate of 20%.

(b)  Will the weighted average cost be different if the market
Price of Rs. 100 Share is Rs. 160?

(c) Determine the effect of Dividend Distribution tax on
cost of capital under (a) and (b) if tax Rate is 10%.

31 ﬂhucﬁmﬂﬂﬂxﬁmﬁﬁﬂﬂxﬁﬂ
Wﬂﬁgﬂsﬁﬁﬂﬁ%iwh

TR (100 T wEE) 10,00,000 =,

10% fed=x 7,00,000 %.
15% wEfy o 15,00,000 %
13% a{Far geft 8,00,000 .
s 40,00,000 w.

ﬂiﬂmugﬂﬁmﬂﬂﬂﬂﬂwﬁ

Aﬂuﬁdﬁﬂiﬂﬁﬂﬁmﬂ&ﬂmmﬂ%
ﬁﬂ&sﬂﬁﬂaw_ﬁunxﬂ%ﬁ@
I OGEE W oW e

26074/8600/KD/549 4

ﬁ.ﬂvﬂﬂmﬂnﬂﬁﬂ@%ﬂ_aawﬂﬁq
e s e e e

Eﬂﬂﬂﬂsawanﬁ&:ﬂﬂmﬂ
A&ﬂﬂﬁﬂ%ﬁﬂwﬂﬂﬂuﬁﬂ_
Fufor e

Explain the Modigliani and Miller approach of capital

+ Structure with examples. What are its limitations?

@ﬁﬂ%&ﬁﬁﬂ%%?ﬂﬂwﬁﬂsﬂ
ﬁﬁz%ﬂ@%ﬂﬂﬁﬁuﬁ.ﬁqwa

What do you mean by finance function? Enumerate the
functions of a Chief Financial Manager and show with the
help of suitable example.

Eﬁﬂﬂ%ﬁﬁﬂ?ﬂnwmmﬁiﬂ
ﬂmﬂﬁﬂ&ﬁmﬁ%%ﬂmﬂiﬁ
e ¥ z9iEw)

Define Working capital. Explain the factors affecting the
working requirements of a business. What are the advantages

of adequate working capital?

26074/8600/KD/549 5 [P.T.O.



FEE gt W Ui Wit =EEm w5 et
I SETEHASA F UG FE AR FRE F ST
Hifgl w99 FEviE g ® @w ¥ 9

A choice is to be made between two projects which require
an equal investment of Rs 2,00,000 each and are expected

to generate net cash flow as under:

Year Project X (Rs.) Project Y (Rs.)
1 82,000 56,000 _
2 39,000 64,000
3 59,000 50,000
4 60,000 30,000
5 Nil 74,000
6 44,000 36,000

The cost of capital of the company is 10%. Which project
should be chosen (a) Payback period method (b) NPV
Method (c) Profitability Index Method?

[Discount factor at 10% are 0.909, 0.826, 0.751, 0.683,
0.621, 0.564 for 1 to 6 Years]

3 ufEee ® ofe ww fawer T s @ R
Y&F F 2,00,000 T H a0 F AV 3 SEvEEa
t T FegER TefE T wEw SeE wa w
Iofir #:

26074/8600/KD/549 6

EL] sfEge X (%)
1 82,000

2 39,000

3 59,000

4 60,000

5 Nil

6 44,000

TfE Y (3.)
56,000
64,000
50,000
30,000
74,000
36,000

FO FH OGSt H AW 10% T I G ofEeE =
g =few (%) wwm fafy, (@) Nev f&fag, (m)

wYyEs gasis  fafua?

[1 | 6 @9 & faw 10% W @ FF T 0.909,

0.826, 0.751, 0.683, 0.621,

0.564]

26074/8600/KD/549
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BCM/D-22 26075
GOODS AND SERVICES TAX
Paper-BC-503
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Attempt four questions from the remaining questions.

e T e ot Wl # Iw AR v den
At #1 9 S #1 IR 9w a v § Y A

1. Compulsory Question ( ifard. wyw)

Write notes on :

s e fod .

(a) Reverse Charge.
fad w17

(b) Mixed Supply.
fafsm smgfd

(c) Input tax credit.
T ¥ e

(d) GSTR-2
STTHER-2.

(e) Types of Audit.
HAEo B YHR

26075/8500/KD/623 [P.T.O.



What is GST? Explain the features of GST.

et w7 2?2 s fasmamet w5 avia Fifm

Discuss various provisions related with place of supply of
goods other than goods imported into or exported from
India?

T # sEifea 7 Fraifm T # st o= awget an
et # 9fd | wefvm wEwe w1 9ok Fif

What are the various provisions related to Time of Supply
under GST?

Wewdl & swln 7w = I @ gy | defun wEye
w1 2

Explain the various provisions related with cancellation of
registration under GST law.

%ﬂ&ﬂ&ﬂﬂﬁ%ﬂ?&ﬂa@%
&g i affa Hifa)

Explain the provisions regarding value of supplies when
supplier and recipient of supply are not related to each
other.

9 % qe9 q Wafta WauE w1 qvi #ifeg 9@ gfie
TE W U R | watm T8

26075/8500/KD/623 2

10.

What do you mean by Input Tax Credit? Explain the
apportionment of Input Tax Credit.

e # Hiee § A9 71 afayd 22 Ty = B B
fawem =1 3vig i)

Explain in detail the provisions related to Debit Note and
Credit Note in detail.

2fe e ud #fee Fe ¥ dafve weEvE w5 frga e
Hifaa)

Write a detailed note on GSTR-1 and GSTR-2.
GSTR-1 T8 GSTR-2 W fawga feoqoft fird)

What is compounding of offences? Explain the provisions
regarding compounding of offences.

YT T YYEA T &7 0T % weme ¥ Wat gEemEt
=1 FUiF Fife) o

26075/8500/KD/623 3
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BCQ/D-22 26076
INCOME TAX-1
Paper — BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Question No. 1 is of 20 marks and rest questions are of
15 marks each.

AT : FHE U Y FowE w1 WA gew | afEd # we
&A1, 20 FH! F1 ¢ IR N9 w&—F W7 15 @ w7

Compulsory Question

(fFEd wv)
1. Explain the following in brief :

(a) Tax Evasion.
(b) Previous Year.
(¢c) Capital Assets.

(d) Tax Treatment of House Rent Allowance.

(¢) Depreciation.

26076/8500/KD/669 [P.T.O.



2.

%ﬂﬂ%m%u
(F) + s(9E=A

(@) T ad

(M) gt |ufa

() wFH fHm 9@ 1 T 3ER

(¥F) T3 7@ (5%4=20)
How is the Residence of Assessees determined for income
tax purpose? Explain the incidence of residence on tax
liability. (15)
HFF Y & o Fifct # serdn fufr =1 39
friftis e s 82 | AW w s fefy @

q9E & e Hife

Write an explanatory note on Exempted Incomes. (15)
W H YN 9@ W S AEAEE AR fearEu)

Mr. Suryasetu is an employee of Indian Firm and furnished
the following particulars of his income for the year ended
on 31st March, 2022 :
Rs.
(i) Basic Salary 1,44,000
(ii) Dearness Allowance 28,800
(iii) Own Contribution to Recognized
Provident Fund (Calculated using
Basic Salary) 20,160

26076/8500/KD/669 2

(iv) Employer's Contribution to the said fund 20,160

(v) Interest on balance in Recognized Provident
Fund (Not exceeding the prescribed rate) 14,000

{vi) Bonus 12,100

(vii) He was provided with a small car for which the
employer paid all the running and maintenance
expenses. The car was used for personal as well as
office purposes.

(viii) Mr. Suryasetu was also provided with rent free
accommodation at Mumbai for which the employer
paid a rent of Rs. 1,250 per month, He was allowed
the use of one refrigerator and an air conditioner
costing Rs. 8,000 and Rs. 12,000 respectively while
their written-down values on 01.04.2021 were
Rs. 4,500 and Rs. 7,000 respectively.

(ix) Life Insurance Premium of Rs. 12,000 was paid by
Mr. Suryasetu's Employer on an Insurance Policy for
Rs. 2,40,000 on Mr. Suryasetu's Life. 0

Compute the Taxable Salary of Mr. Suryasetu for the

Assessment Year 2022-23. (15)

A TG T w6 & wEEE €, 3=l 31 W, 2022 #
T 9 % fau Al o % fefafen faaor waa
o .

T
() ¥ Fa 1,44,000
(i) wEmE 28,800

26076/8500/KD/669 3 [P.T.O.



(i) A o wfrs fifa § @ w5 dmee
(98 3 &1 SR F E H# W) 20,160

(iv) 3% &N ¥ fawm &1 sem 20,160

(v) wr=a W sfas ffy 5 9w ofr w ==
(Fife =X o sfier w7#) 14,000

(vi) =" 12,000

(vii) 3% TF B IR ¥EH F 7 fwd fow fraem 3
A SR W@ ® gt @= w5 gE e wR
1 TR AfFE @R W wEeE B s
o forar e

(vii) =t GH9Y =t g€ § frvan gew s o weE fEa
T o faw femm 3 9 aw 1250 v o
o e om 3 e 8,000 T &R 12,000 T9
T T A UF AR SR U R wEv
I@A w FgEla & T, SEtE 01.04.2021 F T
o4 B % 415 qoF FA: 4,500 T SR 7,000 79
o

(i) o iUy & Femm e st @Ry ® e w
240,000 ¥ H ¥ o W 12,000 T B
et sifiEm #= gEm R @

F fruftor =nd 2022-23 % forw 5t g & = g A

FT UM H

26076/8500/KD/669 -

- Explain in detail the expenses which are allowed in

computing taxable profits of a business. (15)
TF HGHE ® FH 4G A F A H SEEa oAl
fom | =rem wifw

- What do you mean by capital gains in Income Tax?

What are the rules regarding exemption of Capital Gains?

(15)
S 4 Yo T ¥ 9 T gues €2 I @Y W
9 A @ = w82

. From the following information compute the income

from House Property :

Rs.
Fair Rent 72,000
Let Out House 7,000 per month
Standard Rent 60,000
Municipal Taxes Paid @ 20% of M.V.
Previous Year 2020-21 10,000
Previous Year 2021-22 10,000

Other informations are as follows :

(1) House remained vacant for two months during the
previous year.

(ii) Unrealized rent allowed as deduction in the assessment
year 2020-21 but received during the previous year
2021-22 Rs. 40,000.

26076/8500/KD/669 5



(iii) Expenditures incurred on collecting unrealized rent

Rs. 6,000,
(iv) Arrears of Rent received during the previous year

Rs. 20,000. (15)
frefafeas HER 9 TE H9E | FF S 0 HT

T

Ifaa TR 72,000
arefas fmum 7,000 Per month.
a9 fmma 60,000
TRATER HU & FAH @ TRATAR Jod F1 20%
fagen a9 2020-21 10,000
freen a4 2021-22 10,000

FF AHFE T WER E

@) fred o % e 2 wR % o = act @

(i) omra fRuw 1 % fafor a9 2020-21 ® FE #
w9 § agufa & T ot 9fF few ad 2021-22 ®
A e fRTY ¥ 9 40,000 I WW U

(iii) 6,000 T = IS fHEwA age W A T ==

(iv) free o9 % 2R 20,000 T F1 FHE HwE W=
TeT ol

. Write long note on the following :

(a) Tax-Free Non-Government Securities.
(b) Income From Lottery. (7V2+72=15)

26076/8500/KD/669 6

frefafes w faga feooft fafaw .
(%) F-ga R-awwr whrsf
(@) @il | s

. In what circumstances is the income of one person treated

as the income of another? (15)

fiF IRl ¥ T SR #) oI g e w o
T e 82

26076/8500/KD/669 7
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BCQ/D-22 26077

AUDITING
Paper: BC-505

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question no. one is
compulsory of five short questions carrying four marks
each. Attempt four questions from the remaining eight
questions carrying 15 marks each.

AT: FA GW W FU T § TF StEd € frmd
e Y ST W €, Y. 4 3w T 2l 9N oS
YA A ® HE § WX I FIEE, T&E 9 15 3E
ol |

Compulsory Question
( sifrard wowr)
1. Answer the following in short :

(a) Explain briefly the essential qualities of an audit report.
(b) What do you mean by e-commerce?
(c) Write a short note on primary vouchers.
(d) What are contingent liabilities?
(e) Define professional misconduct.

26077/8100/KD/748/Trans. [PTRO.



frefafaa = 3w Wew d S

) fadt caat o & wEvEs N A HE9 W
E Hife)

@ -Fmd ¥ o w7 SfwE 22

@m Wyt IEed | §iiw oot fafaw)

Define auditing. How does auditing differ from accountancy?

FFH  gRANG Fiew Sy c@Ey ¥ e
yFR fa= e 22

What do you mean by the term Internal check? What are
the special features of an efficient system of internal check.
AighE Wi = ¥ aww F7 oAty 3?2 e wi=
# wYE Wonel ®1 fanre fagwand wno#2

What is vouching? Give its objectives. What points should
be taken while vouching a cash book?

aEfan 71 22 =% R w1 S S UHS T
F1 T=fEn @ 999 6 9@ F =H § @ =il

What is meant by the term verification of assets? How does
it differ from the term valuation of assets from the point of
view of an auditor?

ofe & T U= & 1 ad 87 9% IRuE &
zfemm ¥ wfadl @ geaiEd ¥ e R o= B 2

26077/8100/KD/748 2

Discuss briefly the main provisions of the Indian Companies
Act regarding the appointment and removal of an auditor.
FPegs F1 AP R Te@ % Hay H ARAg FE!
sfrm @ TE1 WA # uey § fadEm G

What do you mean by Investigation? Distinguish between
audit and investigation.

IEET ¥ ANE F Sawg 87 sEem IR =
® @9 AW w WE FiEU

What do you mean by professional ethics for auditors?
Discuss the professional ethics under Chartered Accountants

Act 1949.

sPus = fou =mEm dad faewm ¥ e @
sfaurg %2 =2¢ uwEde SfufEe 1949 & wEq HEEE
Tt Afwm wt fEEEw Fifsm

Discuss the rights and duties of the auditor of a nwmwﬁm:u,.

FOH F SEEE ® AUFH R HHe =t fFEEm w=

26077/8100/KD/748 3
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BCQ/D-22 26078

SUPPLY CHAIN MANAGEMENT
Paper: BC-506(1)

Time : Three Hours] [Maximum Marks : 80

1. Compulsory Question ( a4 w9) (20 Marks)
(a) What do you mean by the term operations?
(b) What is logistics?

(c) What is Chain in SCM?

(d) What is customer service?

(e) What is marketing mix?

(®) HEeM YR ¥ AgE ot 22
(@ Y9 W ¥ 82

M T (ScM) ¥ gaen w2

(%) TEE TE oF= OR?

®) fawm fasor = 22

Note: Attempt any four questions (15 marks each)
A 5 WR wE # sw @i (v 15 @)

2.  Which steps are taken in supply chain management process?
What is the scope of SCM?
A HEen ¥EET (SCM) WFa § i 9 wE" SOl
s 2 scM ® TEU ¥ 22

26078/5150/KD/934/Trans. VW IPTO.



. What is the role for SCM for any developing economy like

India?
o S et ff femefe adem & few soM
# = gfE 2

. How SCM works as coordination function? What are

constituents of integrated SCM?
SCM =9 &4 % ®9 § ffg ¥R & F@ 87
TFd SCM & WH T &2

- What is total cost concept in SCM? How SCM strategy is

implemented?
SCM # T wIMa sEYROl =N 2?2 SCM Trfy fFe
TER G H OSw 22

. Which important information systems are in prevalence in

SCM? Write with latest examples.
SCM ¥ =t weal g yonfem wefew €2 =@
=Rl w9y fafa

. Which recent developments do you observe in SCM in India

and abroad? Write with examples.
TRa IR frkel F g osoM ¥ Ta @ wW ® faww
dgd ¥ el @ 9w fafay

26078/5150/KD/934 2

. What is distribution channel design in SCM? Which design

is applicable in which circumstances?

SCM ¥ famur 9@ feoms =0 27 59 ofifefel o
w1 W feumgA @ v 22

.  What are different elements in SCM? How these elements

are connected to each other?
SCM¥ faf= o =0 2 3 @ oW ¥ -3
q 59 wHR G &7

26078/5150/KD/934 3
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BCQ/D-22 26080
FUNDAMENTALS OF STOCK MARKET
Paper—-BC-506 (iii)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.

A : F@ i yE B IW A WA wen | afEd R

Compulsory Question ( 31Famd wyw)

1. Write short notes on the following :
(a) Book building.
(b) Lome Duck.
(c) Swaps.
(d) Clearing house. i
(e) FIL (5%4=20)
frafafan w ofa feopft fafaw .
(w) g% fafe=m
(@) fEafean
(M) =E
(%) IrF TR
(%) faset wwmm FeEwE
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. What do you mean by NIM ? What are the characteristic of

NIM ? Explain the functions of NIM. 5,5.5
7a frigg &R (NIM) ® 9@ =1 afayE 82 NIM
#1 F1 favae €2 NIM & w5l &1 9o w51

. Explain the meaning of Stock Exchange. Give the listing

procedure in detail. 5,10
YR AR F AY qa) gEEsw wfEa fTEr | =)

. Explain the Trading Mechanism of NSE. 15

NSE &1 =R I3&d &1 guA Hil

. Explain the SEBI Regulations, 2009 regarding public issue

of shares, 15

Tl & wewHE e 8 gt 9= faaa, 2000 =1
U H

. What are the functions of NSDL ? Explain the advantages

of NSDL. 7.8
NSDL & %1 =1 #2 NSDL & &19 =am|

. Write a note on different types of options and highlight the

services provided by them to Investors. 8,7

fafem vor # foredl m @@ foad@ a9 =% @
favsl = @ IR T g9l | T EE)

26080/1,900/KD/428 2

8. [Explain Futures. What are the different types of Futures.

6,9
HEd 1 9w HEEE At wwr o #

. What do you mean by ADRs ? State the types and issue

mechanism of ADRs. 5.,5.5

slFT IRt R /@ o9 ¥ uHe@ ¥ ADRs #
TR Tg fEafafy =1 =)

26080/1,900/KD/428 3
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BCQ/D-22 26091
WEB TECHNOLOGY
Paper-BC-505
Time : Three Hours] [Maximum Marks : 60

Note : Attempt any five questions. Q. No. 1 is compulsory.

1. Compulsory Question.
(a) Define the term HTML.,
(b) Give merits of Java Script in web design.
(c) Discuss Heading Tags.
(d) What is role of Radio button and Check Box.

(e) Discuss concept of cookies. . (20)

2. Explain the following using HTML :
(a) Different attributes of Background.
(b) Text settings in HTML. (10)

3. What are Data types available in JavaScript. (10)

4. What is the use of Constructor. Discuss Looping Constructor.
(10)

26091/750/KDITTT PT.O.
va |



s.

6.

9.

Which is faster between JavaScript and an ASP script?
Discuss operators of JavaScript (10)

Explain concept of transfer using Pass by Value and Pass by

Reference in JavaScript using example. (10)
Explain call(), apply() and, bind() methods. (10)
Explain JavaScript Document Object model. (10)

Using HTML Discuss (any two) :

(a) Colors setting.

(b) Use of Style Sheets.

(c) Use of Images and n._.nw Linking. - (10)

26091/750/KDI777 2
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SYSTEM ANALYSIS AND DESIGN
Paper-BC-506
Time : Three Hours] [Maximum Marks : 60

Note : Attempt any five questions. Q. No. 1 is compulsory.

1. Compulsory Question
(a) Define the term "system".
(b) Write characteristics of System.
(c) Discuss Economical Feasibility.
(d) Discuss methods to gather Data.
(e) Define Closed and man-made system. (20)

2. Define System Elements and various Types of System.
(10)

3. Explain Life cycle involved in System Development. (10)

4. (a) Define the concept technical and social Feasibility.
(b) What are working procedures of System Analyst. (10)

5. Explain Role of Forms in System and emphasize on Output
Form. (10)

26092/750/KD/838 A\ [PTO.



e ¥
6. Explain Implementation stage and explain parallel and pilot
Run, (10)
7. m..,mw_ah various maintenance methods. (10)
8. Discuss concept of System Testing and its importance. (10)
9. Write notes on :

(a) Security threats and its recovery.
(b) Logical and Physical Design. . (10)

26092/750/KD/838 e
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*MANAGEMENT OF SALES FORCE-]
(ASPSM)
Paper-BC-505

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question No.1 is compulsory.
Attempt any four questions out of remaining eight
questions.

e R Ui g @ s S we g | afEE
Y A W W W W W #it
Compulsory Question
(frard uy)
1. Attempt all questions :
Tl uvE # ' Fw
(a) Define Sales force management.
et @@ wE w5 gfwfm w5
(b) What are the functions of sales force recruitment?
ot a9 Wil # w4 T B2
(c) What are the factors affecting sales force size?
- [ w7 s # et w0 A e e
(d) Discuss the importance of sales force development.
Tl @ form % wee w == 1)
() What is the need of sales force _umlcam:wn appraisal?

fast @& vl g # oFn amEvEEa 2 (20)
26096/50/KD/395 [P.T.O.



Discuss the significance of sales force management.

fast 9@ @Y # Tee 9 99 L (10)

What are the different functions of a sales department?

fasl yaus 5 fata= &@ F7 £7 (10)

Discuss different bases of organization of sales department.

ot faum & "mea = fafa= e =1 ==t 15w (10)

What are different methods of sales force recruitment?

o W W B fafee aie 7 62 (10)

Discuss methods of sales force training.

fawt = i & ah 9 == Hi (10)

What are the methods of compensating sales force?

fagl e F wfayfd O & w7 8 (10)

Discuss Maslow's Need Hierarchy theory of motivation in
detail.

T YT B aEvaEa Wi fasia i fawm 9
== il : (10)

Discuss the methods of sales force performance appraisal.

fas 99 eI Hedis ® adw wi == H (10)

26096/50/KD/395 2



RBaoll ' No: o Total Pages : 3
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SALES PROMOTION AND PUBLIC RELATIONS-I
Paper: BC (Voc.)-506

Time : Three Hours] [Maximum Marks : 60

Note : Attempt five questions in all. Question no. 1 is compulsory.

AT FA WE YA W WA W TF abEd 2

Compulsory Question
(tfmErd W)
1. Write short notes on the following:
(a) Trade Oriented Sales Promotion.
(b) Games of Chance and Skill.
(c) Lotteries.
(d) Demonstrations.
(¢) Premium & Free Goods. (4x5=20)

Freafafas ® o feufal fod:

(F) =R IHE fawt dau

(@) d9E 3R SvE ® 9l

() @

(w) e

(®) Wimm @k qw SwE
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. "Sales Promotion is an important tool of promotion mix",

Explain. 10
‘fkt dad yeR frsw @ @ weeqel am
Al FHifog

»  What are the objectives of Sales Promotion? How it is

different from advertising? 10
ot dadT = v =1 €2 9% fauwm ¥ e wER
f= 22

. Discuss Consumer Oriented and Sales Oriented forms of

sales promotion. 10
fasl datf7 & susdier 3q@ @ik st s=pE =+
e +1)

- Discuss various tools of sales promotion and briefly explain

their features. 10
fat daga & fafe= ol #1 fag= #ife sk
Tt fadael &t dEv § sren st

- How are conferences and conventions effective in promoting

sales? 10
@ﬂﬁmﬂﬂﬁ»ﬂﬂ%%%@uﬂ
B 27

26097/50/KD/320 -

7.

"Does a sales promotion program induce Buying". Explain
your answer in this regard. 10

‘= feent dae wrEn @ied w5 ARa w1 2 =g
day § oo sW wWe Fifwu)

Write short notes on the following :
(a) Trade shows.
(b) Couponing. (2x5=10)

frefafas = oy femfial o,
(F) =MR T9E)
(|) =gl

Discuss various factors that have led to companies shifting
more of their marketing budgets to sales promotion. Discuss
pros and cons of spending more on sales promotion. 10

37 fafr= el W == wX AT oo § wefE
ﬁ»i@:ﬂmﬂﬂﬂ&ﬂﬁm%ﬁ
W 21 fomt gt W ofvs = w0 & vy ok faow
R b =

26097/50/KD/320 3



